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ENGLISH)

SOLID STATE

Question Bank

1. Which state of matter has definite mass,

volume and shape ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ThrDsMzB7heD


View Text Solution

2. What is amorphous solid ?

Watch Video Solution

3. Which solids behave like super cooled liquid

?

View Text Solution

https://dl.doubtnut.com/l/_ThrDsMzB7heD
https://dl.doubtnut.com/l/_TJj2tDTzwASj
https://dl.doubtnut.com/l/_nAIp8hThPxip


4. Which type of solids have long range order

and sharp melting point ?

Watch Video Solution

5. What are the different categories of

crystalline solids ?

Watch Video Solution

6. Which does influence the cleavage?

https://dl.doubtnut.com/l/_hvmYJeiSeUfy
https://dl.doubtnut.com/l/_Z6lgI7x8F2Lv
https://dl.doubtnut.com/l/_byIRBC1jE162


Watch Video Solution

7. Give an example of hcp and bcc crystals.

Watch Video Solution

8. What is the coordination number of each

sphere in: 

(i) Hexagonal close packed structure and

View Text Solution

https://dl.doubtnut.com/l/_byIRBC1jE162
https://dl.doubtnut.com/l/_FPFQdI18WK1V
https://dl.doubtnut.com/l/_f5YEO5tWBDPM
https://dl.doubtnut.com/l/_VSDmZoKRoLIF


9. What is the coordination number of each

sphere in :

Body-centred cubic structure.

Watch Video Solution

10. What is the coordination number of each

ion in NaCl ?

Watch Video Solution

https://dl.doubtnut.com/l/_VSDmZoKRoLIF
https://dl.doubtnut.com/l/_Uw2PIrv7tB7A


11. What are the coordination numbers of

 and  in CsCl lattice ?

Watch Video Solution

Cs+ Cl−

12. What is the formula of density (d) of unit

cell ?

View Text Solution

13. What is called crystal lattice ?

https://dl.doubtnut.com/l/_vl73rngIT9r1
https://dl.doubtnut.com/l/_KLQwo5gxYWpw
https://dl.doubtnut.com/l/_wCCCfrlJHOKH


Watch Video Solution

14. What is unit cell ?

Watch Video Solution

15. How many types of primitive unit cells are

there ?

Watch Video Solution

https://dl.doubtnut.com/l/_wCCCfrlJHOKH
https://dl.doubtnut.com/l/_KONb7jN9hb1q
https://dl.doubtnut.com/l/_3qmJuRcYGOqI


16. Name two most efficient close packed

lattices.

Watch Video Solution

17. Give two examples of amorphous solid.

Watch Video Solution

18. The number of atoms in bcc arrangement is

Watch Video Solution

https://dl.doubtnut.com/l/_IcbZqJbXVKsH
https://dl.doubtnut.com/l/_TIUtKuVQadH6
https://dl.doubtnut.com/l/_TNDsSoVJsl9V


19. What is the radius ratio range for

ionic solids with bcc structure ?

Watch Video Solution

(r+ /r− )

20. What is the co-ordination number of 

and  ions in  lattice ?

Watch Video Solution

Ca2 +

F − CaF2

https://dl.doubtnut.com/l/_TNDsSoVJsl9V
https://dl.doubtnut.com/l/_Jer2zMIY3WvA
https://dl.doubtnut.com/l/_UGvb9Mrh5dqW


21. Co-ordination number of HCP crystal is -

Watch Video Solution

22. What is the coordination number of each

atom in ccp structure?

Watch Video Solution

23. What is co-ordination number of each

sphere in bcc packed structure ?

https://dl.doubtnut.com/l/_v4iFavTIOnSc
https://dl.doubtnut.com/l/_qn1B6arrdoFC
https://dl.doubtnut.com/l/_aF3j5STAMrRY


Watch Video Solution

24. _____solids are isotropic in nature.

Watch Video Solution

25. _____solids are anisotropic in nature.

Watch Video Solution

https://dl.doubtnut.com/l/_aF3j5STAMrRY
https://dl.doubtnut.com/l/_bSKSJcUmOXr5
https://dl.doubtnut.com/l/_r4laEw07qvze


26. Predict the percentage of space filled by

particles in simple cubic lattice.

Watch Video Solution

27. Cubic close-packed (ccp) lattice is also

called_____

View Text Solution

28. Two types of voids are_____and_____

https://dl.doubtnut.com/l/_GJ097yuJCVjm
https://dl.doubtnut.com/l/_hMAzrxN1f9Ii
https://dl.doubtnut.com/l/_l3sj16z5eTZf


View Text Solution

29. Iodine is ______type solid.

Watch Video Solution

30. Ice is an example of______type crystal

Watch Video Solution

https://dl.doubtnut.com/l/_l3sj16z5eTZf
https://dl.doubtnut.com/l/_yFubplVp2msN
https://dl.doubtnut.com/l/_RDFJxW1ZzZFj


31. Two examples of covalent crystals

are_____and_____

Watch Video Solution

32. In simple ionic crystals_____or______types of

arrangement are generally -present.

Watch Video Solution

https://dl.doubtnut.com/l/_8OSfj7dg7giC
https://dl.doubtnut.com/l/_92rXgAxjIhrb


33. In ionic crystals______ions adopt ccp or hcp

arrangement, while_____ions occupy interstitial

sites

Watch Video Solution

34. In NaCl crystal______ions occupy all the

octahedral sites.

Watch Video Solution

https://dl.doubtnut.com/l/_PUPo2W5ocG4d
https://dl.doubtnut.com/l/_mUL9tmc1SGL5


35. What are the coordination numbers of

 and  in CsCl lattice ?

Watch Video Solution

Cs+ Cl−

36. In NaCl crystal, one  ion is surrounded

by_____  ions.

Watch Video Solution

Na+

Cl−

https://dl.doubtnut.com/l/_WiiRg6u61maV
https://dl.doubtnut.com/l/_hWgf0YNItfZo


37. Two metals showing cubic close packed

(ccp) structure are_____and_____

Watch Video Solution

38. Two metals exhibiting hcp arrangement

are_____and_____

Watch Video Solution

https://dl.doubtnut.com/l/_6pn8sr6kcIfl
https://dl.doubtnut.com/l/_3RIx9o4gCxQm


39. In ionic crystals______ions adopt ccp or hcp

arrangement, while_____ions occupy interstitial

sites

Watch Video Solution

40. The number of nearest neighbours with

which a given sphere is in contact is

called______

Watch Video Solution

https://dl.doubtnut.com/l/_ilqJUf2j7MQa
https://dl.doubtnut.com/l/_W6jiBp122R2Q
https://dl.doubtnut.com/l/_m3WC8qS1Ivir


41. If radius ratio ( ) is in the range

0.414 to 0.732, the possible co-ordination

number is ______and structural arrangement is

______

Watch Video Solution

r+ /r−

42. Zinc blende type structure has_____co-

ordination, while cesium chloride type,

structure has ______co-ordination.

Watch Video Solution

https://dl.doubtnut.com/l/_m3WC8qS1Ivir
https://dl.doubtnut.com/l/_KPkRTQsR2JLz


43. Carborandum and dry ice are

_____and_____type of crystal respectively

Watch Video Solution

44. Co-ordination numbers of  and 

in CsCl crystal are in the ratio ?

Watch Video Solution

Cs+ Cl−

https://dl.doubtnut.com/l/_ovtZEhf7nTGg
https://dl.doubtnut.com/l/_sHsZCLAAsRoN


45. Zinc blende type structure has what co-

ordination ratio?

Watch Video Solution

46. Iodine is an ionic type solid.

A. true

B. false

C. 

D. 

https://dl.doubtnut.com/l/_EXq6fU4TJyso
https://dl.doubtnut.com/l/_dhF0Gs2Wfx0P


Answer:

Watch Video Solution

47. Predict the percentage of space filled by

particles in simple cubic lattice.

Watch Video Solution

48. Cubic close-packed (ccp) lattice also called

bcc is it true or false?

https://dl.doubtnut.com/l/_dhF0Gs2Wfx0P
https://dl.doubtnut.com/l/_dgpqHUwdqI5z
https://dl.doubtnut.com/l/_3oV0LORQ92LA


Watch Video Solution

49. Why solids have definite mass, volume and

shape ?

Watch Video Solution

50. What are Bravais Lattices ?

Watch Video Solution

https://dl.doubtnut.com/l/_3oV0LORQ92LA
https://dl.doubtnut.com/l/_ikDFLSN417QZ
https://dl.doubtnut.com/l/_DVxRp6vGW0pV


51. Name two most efficient close packed

lattices.

Watch Video Solution

52. How can you convert NaCl structure to CsCl

structure and vice versa ?

Watch Video Solution

https://dl.doubtnut.com/l/_uTd1lmyhqNWl
https://dl.doubtnut.com/l/_ECU9mKJ1uZOS


53. What are the common types of defects in

solids ?

Watch Video Solution

54. What are different types of points defects

?

Watch Video Solution

https://dl.doubtnut.com/l/_wElm9F9yGxZh
https://dl.doubtnut.com/l/_jHaxQw9JYzao


55. Distinguish between anisotropy and

isotropy.

Watch Video Solution

56. The total number of atoms per unit cell of

a face centred cubic crystal is

Watch Video Solution

https://dl.doubtnut.com/l/_jAMgwztLpdlG
https://dl.doubtnut.com/l/_Hrud5b2aXCd8


57. Predict the percentage of space filled by

particles in fcc

View Text Solution

58. Predict the percentage of space filled by

particles in bcc

Watch Video Solution

https://dl.doubtnut.com/l/_i5Lky37dhDfZ
https://dl.doubtnut.com/l/_jP4KlshoVICo


59. Predict the percentage of space filled by

particles in simple cubic lattice.

Watch Video Solution

60. Define unit cell and ‘space lattice’. What do

you understand by simple, face-centred and

body-centred unit cell.

Watch Video Solution

https://dl.doubtnut.com/l/_8zsrPCgR6Cfd
https://dl.doubtnut.com/l/_dfbxIV3Qqjw8


61. Briefly describe the main features of each

of the different types of structures of the ionic

compounds of the type AB.

Watch Video Solution

62. Briefly describe how the packing of the

constituent particles in a crystal takes place.

Watch Video Solution

https://dl.doubtnut.com/l/_63rL96OUl6L1
https://dl.doubtnut.com/l/_7IPQhUipPBtN


63. What is meant by radius ratio ? How is it-

helpful in determining the geometry of the

ionic solid ?

Watch Video Solution

64. Give two difference between crystalline

and amorphous solids.

Watch Video Solution

https://dl.doubtnut.com/l/_i6H9ZK4ewOnP
https://dl.doubtnut.com/l/_bkQT3QCj1PMM


65. On the basis of the nature of bonding how

can crystalline solids be classified into

different types ?

Watch Video Solution

66. Explain fcc and bcc type of crystal structure

and describe their characteristics.

Watch Video Solution

https://dl.doubtnut.com/l/_QTmabUNbPLYZ
https://dl.doubtnut.com/l/_uhXF0AvyQeUD


67. Describe the characteristics of hexagonal

close packed structure giving examples.

Watch Video Solution

68. Describe fcc, bcc and hcp crystals of simple

ionic compounds.

Watch Video Solution

https://dl.doubtnut.com/l/_GS0htDQRoQos
https://dl.doubtnut.com/l/_oSssPsY7CTaK


69. Briefly describe various types of point

deffects with examples.

Watch Video Solution

70. Explain electrical properties of solids using

band theory.

Watch Video Solution

https://dl.doubtnut.com/l/_3qxTqPFy6rqw
https://dl.doubtnut.com/l/_7jtqK4WrZ8rx


71. Briefly explain various types of magnetic

properties of solids

Watch Video Solution

72. Discuss the formation of n-type

semiconductors,

Watch Video Solution

https://dl.doubtnut.com/l/_4rZ5zwZBoR90
https://dl.doubtnut.com/l/_6pobWSEQVCd1


73. Discuss the formation of p-type

semiconductors,

Watch Video Solution

74. An amorphous solid is:

A. Diamond

B. Graphite

C. Glass

D. Common salt

https://dl.doubtnut.com/l/_rndaZcuA5ON4
https://dl.doubtnut.com/l/_NqXcsVyWaKh1


Answer: C

Watch Video Solution

75. The number of basic crystal systems are:

A. 7

B. 8

C. 6

D. 4

Answer: A

https://dl.doubtnut.com/l/_NqXcsVyWaKh1
https://dl.doubtnut.com/l/_WvJKkVCsaTFK


Watch Video Solution

76. Bragg's equation is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

nλ = 2θ sin θ

nλ = 2d sin θ

2nλ = d sin θ

λ = (2 )sin θ
d

n

https://dl.doubtnut.com/l/_WvJKkVCsaTFK
https://dl.doubtnut.com/l/_CwiVYwoWVcds


77. Which is/are covalent solid:

A. 

B. Diamond

C. Graphite

D. All

Answer: D

Watch Video Solution

Fe2O3

https://dl.doubtnut.com/l/_CwiVYwoWVcds
https://dl.doubtnut.com/l/_jm46UMRKvZ7j


78. Graphite is an example of:

A. Ionic solid

B. Covalent solid

C. Van der Waal.s crystal

D. Methallic crystal

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_CU62VCfmwoRT


79. The number of atoms/molecules contained

in one face centred cubic unit cell of a

monoatomic substance is:

A. 4

B. 6

C. 8

D. 12

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_2lxOnVzk9kSL


80. The number of atoms present in a simple

cubic unit cell are:

A. 4

B. 3

C. 2

D. 1

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_BN1p0kKch3KS
https://dl.doubtnut.com/l/_Z2Cely4uSeCm


81. The rank of a cubic unit cell is 4. The type of

cell as:

A. Body centred

B. Face centred

C. Primitive

D. None

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Z2Cely4uSeCm


82. 8:8 coordination of CsCI is found to change

into 6:6 coordination on:

A. Applying pressure

B. Increasing temperature

C. Both (a) and (b)

D. None

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_c4Rr4JyHrNRb
https://dl.doubtnut.com/l/_eRyKjo9aIKy1


83. In a crystal some ions are missing from

normal sites This is an example of:

A. F-centres

B. Interstitial defect

C. Frenkel defect

D. Schottky defect

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_eRyKjo9aIKy1


84. Among the following type of voids, which

one is the largest void:

A. Triangular

B. Cubic

C. Tetrahedral

D. Octahedral

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_AQETXFPN15Ft
https://dl.doubtnut.com/l/_T5oufXZdAcZi


85.  is well known example of

A. Triclinic system

B. Tetragonal system

C. Monoclinic system

D. None

Answer: B

Watch Video Solution

TiO2

https://dl.doubtnut.com/l/_T5oufXZdAcZi


86. Ionic salts on dissolution in a solvent

shows:

A. A decrease in the viscosity of the liquid

B. An increase in the viscosity of the liquid

C. No effect on the viscosity of the liquid

D. None

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_FpjeisCsZE5q
https://dl.doubtnut.com/l/_AKLPCciiAyhI


87. Ionic solids are characterised by:

A. Good conductivity in solid state

B. High vapour pressure

C. Low melting point

D. Solubility in polar solvents

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_AKLPCciiAyhI


88. Each unit cell of NaCI consists of 4 chloride

ions and:

A. 13 Na atoms

B. 4 Na ions

C. 6 Na atoms

D. 8 Na atoms

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ff8szcSJfW9E
https://dl.doubtnut.com/l/_cmfFFcpx7V9g


89. Silicon dioxide is an example of:

A. Metallic crystal

B. Ionic crystal

C. Covalent crystal

D. None

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_cmfFFcpx7V9g


90. Crystals which are good conductor of heat

and electricity are -

A. Ionic crystals

B. Covalent crystals

C. Metallic crystals

D. Molecular crystals

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_X7ysBEtUeKkl
https://dl.doubtnut.com/l/_rHAv81tkXza7


91. LiF is a/an:

A. Ionic crystal

B. Metallic crystal

C. Covalent crystal

D. Molecular crystal

Answer: A

Watch Video Solution

92. The structure of CsCI crystal is:

https://dl.doubtnut.com/l/_rHAv81tkXza7
https://dl.doubtnut.com/l/_IStI95f4N1x3


A. Body centred cubic lattice

B. Face centred cubic lattice

C. Octahedral lattice

D. None

Answer: A

Watch Video Solution

93. ZnS is:

A. Ionic crystal

https://dl.doubtnut.com/l/_IStI95f4N1x3
https://dl.doubtnut.com/l/_Qe8wHMlUXTeY


B. Covalent crystal

C. Metallic crystal

D. vander Waals crystal

Answer: A

Watch Video Solution

94. In graphite crystal, carbon is:

A. sp-hybridised

B. sp2 − hybridised

https://dl.doubtnut.com/l/_Qe8wHMlUXTeY
https://dl.doubtnut.com/l/_H0jfRC03qy8k


C. 

D. None

Answer: B

Watch Video Solution

sp3 − hybridised

95. In diamond carbon is……hybridised.

A. sp

B. 

C. 

sp2

sp3

https://dl.doubtnut.com/l/_H0jfRC03qy8k
https://dl.doubtnut.com/l/_8dkEOBPcbcXz


D. None

Answer: C

Watch Video Solution

96.  and  show:

A. Isomorphism

B. Polymorphism

C. Allotropism

D. Ferromagnetism

Na2SeO4 NaSO4

https://dl.doubtnut.com/l/_8dkEOBPcbcXz
https://dl.doubtnut.com/l/_f5fz4lqjEJ9v


Answer: A

Watch Video Solution

97. A crystal of  is:

A. Paramagnetic

B. Diamagnetic

C. Ferromagnetic

D. None

Answer: C

Fe3O4

https://dl.doubtnut.com/l/_f5fz4lqjEJ9v
https://dl.doubtnut.com/l/_FFbUq9ndMkcg


Watch Video Solution

98. Which one is correct about ferrites?

A. 

B. 

C. Both (a) and (b)

D. None

Answer: B

Watch Video Solution

KNO3NaNO3

Cr2O3Fe2O3

https://dl.doubtnut.com/l/_FFbUq9ndMkcg
https://dl.doubtnut.com/l/_R6ss7fSExhPJ


99. Which one is correct about ferrites?

A. These possess formula (where A

is divalent and B is trivalent cation)

B. These possess spinel structure

C. is a ferrite

D. All

Answer: D

Watch Video Solution

AB2O4

MgAl2O4

https://dl.doubtnut.com/l/_R6ss7fSExhPJ
https://dl.doubtnut.com/l/_R7NsFbMAImfV


100. The structure of sodium chloride is

A. Body centred cubic lattice

B. Face centred cubic lattice

C. Octahedral

D. Square planar

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_vYWq7pV3TvQc


101. Most crystals show good cleavage because

their atoms, ions and molecules are:

A. Weakly bonded together

B. Strongly bonded together

C. Spherically symmetrical

D. Arranged in planes

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qCAOfmSVKT04
https://dl.doubtnut.com/l/_upFI9dFevXqP


102. Which of the following statements are

true?

A. Piezoelectricity is due to net dipole

moment

B. Ferro electricity is due to allignment of

dipoles in same direction

C. Pyroelectricity is due to heating polar

crystals

D. All

Answer: D

https://dl.doubtnut.com/l/_upFI9dFevXqP


Watch Video Solution

103. Frenkel defect is noticed in:

A. AgBr

B. ZnS

C. AgI

D. All

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_upFI9dFevXqP
https://dl.doubtnut.com/l/_ZiaXQ6syBzIK


104. Schottky defect is noticed is:

A. NaCI

B. KCI

C. CsCI

D. All

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ZiaXQ6syBzIK
https://dl.doubtnut.com/l/_qxrHpngL2apB


105. In a body centred cubic cell, an atom at

the body of centre is shared by:

A. 1 unit cell

B. 4 unit cells

C. 3 unit cells

D. 2 unit cells

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_N3WxXhHCxM34
https://dl.doubtnut.com/l/_wvWGizvfOXPz


106. In a simple cubic cell, each atom on a

corner is shared by:

A. 2 unit cells

B. 1 unit cell

C. 8 unit cells

D. 4 unit cells

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wvWGizvfOXPz


107. In a face centred cubic cell, an atom at the

face centre is shared by:

A. 4 unit cells

B. 2 unit cell

C. 1 unit cells

D. 6 unit cells

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_30JyFpUK4ZDf
https://dl.doubtnut.com/l/_cF7hnUmGRlge


108. When arrangement of electrons leads to

ferromagnetism?

A. 

B. 

C. uarruarruarrdarrdarr`

D. None

Answer: C

Watch Video Solution

↑ ↑ ↑ ↓ ↓

↑ ↓ ↑ ↓

https://dl.doubtnut.com/l/_cF7hnUmGRlge


109. The number of  ions which

surrounds each  ion in the NaCI crystal

lattice is:

A. 4

B. 6

C. 12

D. 8

Answer: B

Watch Video Solution

Na+

Cl−

https://dl.doubtnut.com/l/_UNLeiiKMkIGq


110. The mass of a unit cell of CsCI corresponds

to:

A.  and 

B.  and 

C.  and 

D.  and

Answer: C

Watch Video Solution

8Cs+ 8Cl_

1Cs+ 6Cl_

1Cs+ 1Cl_

4Cs+ 4Cl_

https://dl.doubtnut.com/l/_ccb2RfWgPorP
https://dl.doubtnut.com/l/_nwjnSnBPH4zL


111. The coordination number of a body

centred atom is:

A. 4

B. 6

C. 8

D. 12

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_nwjnSnBPH4zL


112. In a face centred cubic lattice the number

of nearest neighbours for a given lattice point

are:

A. 6

B. 8

C. 12

D. 14

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_cutkKO5AHnU9


113. Close packing is maximum in the crystal

which is -

A. Simple cubic

B. Face centred

C. Body centred

D. None

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KBHDxzyy2Ane
https://dl.doubtnut.com/l/_2UNFneSxmvkB


114. Which is (are) amorphous solids?

A. Rubber

B. Plastics

C. Glass

D. All

Answer: D

Watch Video Solution

115. Iodine crystals are:

https://dl.doubtnut.com/l/_2UNFneSxmvkB
https://dl.doubtnut.com/l/_IY6yCJfwAMLA


A. Metallic solid

B. Ionic solid

C. Molecular solid

D. Covalent solid

Answer: C

Watch Video Solution

116. The number of molecules of NaCI in an

unit cell of its crystal is:

https://dl.doubtnut.com/l/_IY6yCJfwAMLA
https://dl.doubtnut.com/l/_OnSbMfFJP2TB


A. 2

B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

117. Zinc blende type structure has what co-

ordination ratio?

https://dl.doubtnut.com/l/_OnSbMfFJP2TB
https://dl.doubtnut.com/l/_vGi85ANFKwhs


A. 2

B. 6

C. 4

D. 8

Answer: C

Watch Video Solution

118. The ratio of closed packed atoms to

tetrahedral holes in cubic close packing is:

https://dl.doubtnut.com/l/_vGi85ANFKwhs
https://dl.doubtnut.com/l/_iSkCAefnhcj8


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1: 1

1: 2

1: 3

2: 1

119. How many kinds of space lattices are

possible in a crystal?

https://dl.doubtnut.com/l/_iSkCAefnhcj8
https://dl.doubtnut.com/l/_6R093iUuyEH8


A. 23

B. 7

C. 230

D. 14

Answer: D

Watch Video Solution

120. The vacant space in body centred cubic

lattice bcc unit cell is about:

https://dl.doubtnut.com/l/_6R093iUuyEH8
https://dl.doubtnut.com/l/_us8N2SZsTDp0


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

32 %

10 %

23 %

46 %

121. A match box exhibits:

A. Cubic geometry

https://dl.doubtnut.com/l/_us8N2SZsTDp0
https://dl.doubtnut.com/l/_nDornv2Wd6md


B. Monoclinic geometry

C. Orthorhombic geometry

D. Tetragonal geometry

Answer: C

Watch Video Solution

122. Which stoichiometric defect decreases the

density of the crystal?

A. Schottky

https://dl.doubtnut.com/l/_nDornv2Wd6md
https://dl.doubtnut.com/l/_v46bWaoIETD3


B. Frenkel

C. F-centre

D. Interstitial

Answer: A

Watch Video Solution

123. Solid  is an example of:

A. Molecular crystal

B. Covalent crystal

CO2

https://dl.doubtnut.com/l/_v46bWaoIETD3
https://dl.doubtnut.com/l/_qOLjj8zREi96


C. Metallic crystal

D. Ionic crystal

Answer: A

Watch Video Solution

124. The three states of matter are solid, liquid

and gas. Which of the following statements

are correct about them ?

https://dl.doubtnut.com/l/_qOLjj8zREi96
https://dl.doubtnut.com/l/_AeNbf3CWX0gn


A. Gases and liquids have viscosity as a

common property

B. The molecules in all the three states

possess random translational motion

C. Gases cannot be converted into solids

without passing through the liquid

phase.

D. Solids and liquids have vapour pressure

as a common property

Answer: A

https://dl.doubtnut.com/l/_AeNbf3CWX0gn


Watch Video Solution

125. The intermetallic compound LiAg

crystallises in cubic lattice in which both Li and

Ag have co-ordination number of eight. The

class of crystal is:

A. Simple cubic

B. Body centred cubic

C. Face centred cubic

D. None

https://dl.doubtnut.com/l/_AeNbf3CWX0gn
https://dl.doubtnut.com/l/_7r5aOXYKAHSl


Answer: B

Watch Video Solution

126. The number of atoms/molecules present

in one body centred cubic unit cell is:

A. 1

B. 2

C. 4

D. 6

https://dl.doubtnut.com/l/_7r5aOXYKAHSl
https://dl.doubtnut.com/l/_66GDGSuDHErh


Answer: B

Watch Video Solution

127. Wax is an example of:

A. Ionic crystal

B. Covalent crystal

C. Molecular crystal

D. Metallic crystal

Answer: C

https://dl.doubtnut.com/l/_66GDGSuDHErh
https://dl.doubtnut.com/l/_msNLv5QeBahv


Watch Video Solution

128. In a crystal, the atoms are located at the

position of……potential energy.

A. Zero

B. Infinite

C. Minimum

D. Maximum

Answer: C

https://dl.doubtnut.com/l/_msNLv5QeBahv
https://dl.doubtnut.com/l/_cQilzt3Ediff


Watch Video Solution

129. In a solid lattice the cation has left a

lattice site and is located at an interstitial

position. The lattice defect is known as -

A. Interstitial defect

B. Valency defect

C. Frenkel defect

D. Schottky defect

Answer: C

https://dl.doubtnut.com/l/_cQilzt3Ediff
https://dl.doubtnut.com/l/_2j0w1drT80mo


Watch Video Solution

130.  possesses:

A. Face centred cubic

B. Body centred cubic

C. Simple cubic

D. Hexagonal closed packing

Answer: A

Watch Video Solution

CaF2

https://dl.doubtnut.com/l/_2j0w1drT80mo
https://dl.doubtnut.com/l/_smoWUHpn8FMF


131. For an ionic crystal of the general formula

 and coordination number 6, the

radius ratio will be:

A. Greater than0.73

B. Between 0.73 and 0.41

C. Between 0.41 and 0.22

D. Less than 0.22

Answer: B

Watch Video Solution

A+B−

https://dl.doubtnut.com/l/_rqmGRvBsoA5Z


132. Which substance shows

antiferromagnetism?

A. 

B. CdO

C. 

D. 

Answer: D

Watch Video Solution

ZrO2

CrO2

Mn2O3

https://dl.doubtnut.com/l/_A2h3ESt23W8f
https://dl.doubtnut.com/l/_i0x10BeYBczw


133. The coordination number of  ion in

fluorite crystal is:

A. 2

B. 8

C. 6

D. 4

Answer: B

Watch Video Solution

Ca2 +

https://dl.doubtnut.com/l/_i0x10BeYBczw


134. Metals have conductivity of the order of

:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(ohm− 1cm− 1)

1012

105

102

10− 6

https://dl.doubtnut.com/l/_Gtg4OjOYbdJn
https://dl.doubtnut.com/l/_mfn3s65r9mkP


135. In crystal structure of rock salt (NaCI), the

arrangement of  ion is:

A. fcc

B. bcc

C. Both (a) and (b)

D. None

Answer: A

Watch Video Solution

CI −

https://dl.doubtnut.com/l/_mfn3s65r9mkP


136. Which crystal is expected to be soft and

have low melting point?

A. Covalent

B. Metallic

C. Molecular

D. Ionic

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_njYxqk4A5Lnv
https://dl.doubtnut.com/l/_3KR2Pbfi1i6b


137. The elements of symmetry in a crystal are:

A. Plane of symmetry

B. Axis of symmetry

C. Centre of symmetry

D. All

Answer: D

Watch Video Solution

138. Molecular crystals exist in:

https://dl.doubtnut.com/l/_3KR2Pbfi1i6b
https://dl.doubtnut.com/l/_YR2TSAuS3ZPf


A. Crystalline state

B. Amorphous state

C. Non-crystalline state

D. All

Answer: D

Watch Video Solution

139. Quartz is an example of:

A. ionic crystal

https://dl.doubtnut.com/l/_YR2TSAuS3ZPf
https://dl.doubtnut.com/l/_WBesX7O8M4u5


B. molecular crystal

C. metallic crystal

D. covalent crystal

Answer: C

Watch Video Solution

140. In antiflourite structure, the negative

ions:

A. Occupy tetrahedral voids

https://dl.doubtnut.com/l/_WBesX7O8M4u5
https://dl.doubtnut.com/l/_Tp1HEo40Alsi


B. Occupy octahedral voids

C. Are arranged in ccp

D. Are arranged in hcp

Answer: C

Watch Video Solution

141. The pure crystalline substance on being

heated gradually first forms a turbid liquid at

constant temperature and still at higher

temperature turbidity completely disappears.

https://dl.doubtnut.com/l/_Tp1HEo40Alsi
https://dl.doubtnut.com/l/_i6fZ1F8e6Lcl


The behaviour is a characteristics of substance

forming:

A. Allotropic crystal

B. Liquid crystal

C. Isomeric crystals

D. Isomorphous crystals

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_i6fZ1F8e6Lcl


142. Ionic solids with Schottky defects contain

in their structure :

A. Equal number of cations and anion

vacancies

B. Intersitial anions and anion vacancies

C. Cation vacancies only

D. Cation vacancies and interstitial cations

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_YoblYfpmcee9


143. In a cubic close packing of spheres in

there dimensions the coordination number of

each sphere is:

A. 6

B. 9

C. 3

D. 12

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_YoblYfpmcee9
https://dl.doubtnut.com/l/_kOUdmSRuj2IP


144. When arrangement of electrons leads to

ferromagnetism?

A. 

B. 

C. 

D. None the these

Answer: A

Watch Video Solution

↑ ↑ ↑ ↑

↑ ↓ ↑ ↓

↑ ↑ ↑ ↓ ↓

https://dl.doubtnut.com/l/_kOUdmSRuj2IP
https://dl.doubtnut.com/l/_zdJbbZs6ZnrK


145. For which crystal anion-anion contact is

valid?

A. NaF

B. NaI

C. CsBr

D. KCI

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_O9MnxPURsNmC
https://dl.doubtnut.com/l/_xHUEoeER7laE


146. The melting point of RbBr is , with

that of . The principal reason

that melting point of NaF is much higher than

that of RbBr is that:

A. The two crystals are not isomorphous

B. The molar mass of NaF is smaller than

that of RbBr

C. The internuclear distance  is

greater for RbBr than for NaF

682∘C

NaFis988∘C

re + ra

https://dl.doubtnut.com/l/_xHUEoeER7laE


D. The bond is RbR has more covalent

character than the bond in NaF

Answer: C

Watch Video Solution

147. The oxide which shows metallic

conduction:

A. 

B. VO

ReO3

https://dl.doubtnut.com/l/_xHUEoeER7laE
https://dl.doubtnut.com/l/_el3HZ4FuqLme


C. 

D. All

Answer: D

Watch Video Solution

CrO2

148. An insulator oxide is:

A. CuO

B. CoO

C. Fe2O3

https://dl.doubtnut.com/l/_el3HZ4FuqLme
https://dl.doubtnut.com/l/_UUrjEkEUR1A6


D. All

Answer: D

Watch Video Solution

149. Which species is diamagnetic?

A. 

B. 

C. 

D. All

Ca2 +

Hg2CI2

Sb3 +

https://dl.doubtnut.com/l/_UUrjEkEUR1A6
https://dl.doubtnut.com/l/_ABe6zUrM0EGJ


Answer: D

Watch Video Solution

150. Which oxide of chlorine is paramagnetic?

A. 

B. 

C. 

D. 

Answer: B

Cl2O

ClO2

Cl2O4

Cl2O6

https://dl.doubtnut.com/l/_ABe6zUrM0EGJ
https://dl.doubtnut.com/l/_BKBAqQz44cb9


Watch Video Solution

151. Which crystal has the largest lattice

energy?

A. KCI

B. MgO

C. LiBr

D. NaF

Answer: B

https://dl.doubtnut.com/l/_BKBAqQz44cb9
https://dl.doubtnut.com/l/_7v6vPmaKBUxC


Watch Video Solution

152. The structure of MgO is similar to NaCI.

The co-ordination number of Mg is:

A. 2

B. 6

C. 4

D. 8

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7v6vPmaKBUxC
https://dl.doubtnut.com/l/_lbAt40jSRVlw


153. 4 : 4 coordination is noticed in:

A. ZnS

B. CuCI

C. AgI

D. All

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_lbAt40jSRVlw
https://dl.doubtnut.com/l/_ozB3f1XdbaKn
https://dl.doubtnut.com/l/_qrOrmTwauQlT


154. The oxide which shows transition from

metal to insulation, i.e., semiconductors are:

A. 

B. 

C. 

D. All

Answer: D

Watch Video Solution

V2O3

VO2

Ti2O3

https://dl.doubtnut.com/l/_qrOrmTwauQlT


155. 8 : 8 coordination is noticed in:

A. MgO

B. 

C. CsCI

D. All

Answer: C

Watch Video Solution

AI2O3

https://dl.doubtnut.com/l/_UqieV2YuP7Dz


156. The oxide that possesses electrical

conductivity:

A. 

B. 

C. NiO

D. MnO

Answer: B

Watch Video Solution

V2O5

CrO2

https://dl.doubtnut.com/l/_QKTh8GatxF2q
https://dl.doubtnut.com/l/_XeMDfDbPgiXb


157. In the unit-cell of NaCI lattice there are:

A. 

B. 

C. 

D. 4NaCI units

Answer: D

Watch Video Solution

3Na+ ion

6Na+ ion

6Cl − ion

158. Which species is paramagnetic ?

https://dl.doubtnut.com/l/_XeMDfDbPgiXb
https://dl.doubtnut.com/l/_pRss73rb0nhb


A. 

B. 

C. 

D. All are correct

Answer: D

Watch Video Solution

Mn2 +

NO

Fe2 +

159. The substance which possesses zero

resistance as 0 K:

https://dl.doubtnut.com/l/_pRss73rb0nhb
https://dl.doubtnut.com/l/_WRoWIWyKS4CY


A. Conductor

B. Super conductor

C. Insulator

D. Semiconductor

Answer: B

Watch Video Solution

160. Of the elements Sr,Zr,Mo,Cd and Sb, all of

which are in V period, the paramagnetics are:

https://dl.doubtnut.com/l/_WRoWIWyKS4CY
https://dl.doubtnut.com/l/_hBvSKddm3U68


A. Sr, Cd and Sb

B. Zr, Mo and Cd

C. Sr, Zr and Cd

D. Zr,Mo and Sb

Answer: D

Watch Video Solution

161. The cation-anion bond have the largest

amount of covalent character for:

https://dl.doubtnut.com/l/_hBvSKddm3U68
https://dl.doubtnut.com/l/_7EPFHOusC5eY


A. NaBr

B. SrS

C. CdS

D. BaO

Answer: C

Watch Video Solution

162. Which is ferromagnetic?

A. Ni

https://dl.doubtnut.com/l/_7EPFHOusC5eY
https://dl.doubtnut.com/l/_GBscqHLLT9CH


B. Co

C. 

D. All

Answer: D

Watch Video Solution

CrO3

163. Which one is diamagnetic?

A. 

B. 

ClO2

Cu2 +

https://dl.doubtnut.com/l/_GBscqHLLT9CH
https://dl.doubtnut.com/l/_XyFWJGEY8d31


C. 

D. 

Answer: C

Watch Video Solution

F −

Ni2 +

164. Maximum ferromagnetism is found in:

A. Fe

B. Ni

C. Co

https://dl.doubtnut.com/l/_XyFWJGEY8d31
https://dl.doubtnut.com/l/_HZEi0BifEM7i


D. None

Answer: A

Watch Video Solution

165. Crystals can be classified into …… basic

crystal habits?

A. 7

B. 4

C. 14

https://dl.doubtnut.com/l/_HZEi0BifEM7i
https://dl.doubtnut.com/l/_LNH5egyFjOvL


D. 3

Answer: A

Watch Video Solution

166. The maximum proportion of available

volume that can be filled by hard spheres in

diamond is:

A. 0.52

B. 0.34

https://dl.doubtnut.com/l/_LNH5egyFjOvL
https://dl.doubtnut.com/l/_B7eOcn98gNN1


C. 0.32

D. 0.68

Answer: B

Watch Video Solution

167. Lubricating properties of graphite are

diminished in presence of:

A. High pressure

B. Low pressure

https://dl.doubtnut.com/l/_B7eOcn98gNN1
https://dl.doubtnut.com/l/_svULuLxGE3cL


C. Vacuum

D. None

Answer: C

Watch Video Solution

168. Which do not from amalgam with Hg ?

A. Pt

B. Fe

C. Both (a) and (b)

https://dl.doubtnut.com/l/_svULuLxGE3cL
https://dl.doubtnut.com/l/_P4QoeCvY9Zhr


D. None

Answer: C

Watch Video Solution

169. High thermal conductivity of metals is due

to transfer of heat through:

A. Molecular collsions

B. Electronic collisions

C. Atomic collisions

https://dl.doubtnut.com/l/_P4QoeCvY9Zhr
https://dl.doubtnut.com/l/_oBi2rIscw2ij


D. All

Answer: B

Watch Video Solution

170. The metal surfaces are excellent reflectors

because of absorption and re-emission of light

by:

A. Protons in atom

B. Electrons in atom

https://dl.doubtnut.com/l/_oBi2rIscw2ij
https://dl.doubtnut.com/l/_iCwWCowD1WHI


C. Neutrons in atom

D. None

Answer: B

Watch Video Solution

171. An increase in the charge of the positive

ions that occupy lattice positions brings in

a/an…… in methallic bonding.

A. Increase

https://dl.doubtnut.com/l/_iCwWCowD1WHI
https://dl.doubtnut.com/l/_AWgVfXA6CaWq


B. Decrease

C. Neither increase nor decrease

D. Either increase or decrease

Answer: A

Watch Video Solution

172. The hardness of metal increases with

increase in number of …… involved in metallic

bonding.

https://dl.doubtnut.com/l/_AWgVfXA6CaWq
https://dl.doubtnut.com/l/_B8llGboxM1kg


A. Atoms

B. Molecules

C. Electrons

D. All

Answer: C

Watch Video Solution

173. Which possesses highest lattice energy?

A. LiBr

https://dl.doubtnut.com/l/_B8llGboxM1kg
https://dl.doubtnut.com/l/_BoXvFqB0qc5p


B. LiCI

C. LiI

D. LiF

Answer: D

Watch Video Solution

174. Each atom in bcc structure has ……..

Nearest neighbours.

A. 8

https://dl.doubtnut.com/l/_BoXvFqB0qc5p
https://dl.doubtnut.com/l/_J4GIYO7d6ZP6


B. 6

C. 4

D. 2

Answer: A

Watch Video Solution

175. The resistance of mercury becomes almost

zero at :

A. 4 K

https://dl.doubtnut.com/l/_J4GIYO7d6ZP6
https://dl.doubtnut.com/l/_tT5PQaMn44Ke


B. 10 K

C. 20 K

D. 25 k

Answer: A

Watch Video Solution

176. All the substances become diamagnetic at

:

A. 4 K

https://dl.doubtnut.com/l/_tT5PQaMn44Ke
https://dl.doubtnut.com/l/_i9qHfKT1Svzd


B. 10 k

C. 20 K

D. 25 K

Answer: A

Watch Video Solution

177. Extremely pure samples of Ge and Si are

non-conductors ,but their conductivity

increases suddenly on introducing …….. In their

crystal lattice .

https://dl.doubtnut.com/l/_i9qHfKT1Svzd
https://dl.doubtnut.com/l/_4dlTqzVQveb8


A. As

B. B

C. Both(a) and (b)

D. None

Answer: C

Watch Video Solution

178. Solids are characterised by their

properties :

https://dl.doubtnut.com/l/_4dlTqzVQveb8
https://dl.doubtnut.com/l/_ZpZ4uIsUsacR


A. Incompressibility

B. Mechanical strength

C. Crystalling nature

D. All

Answer: D

Watch Video Solution

179. A solids having no definite shape is called :

A. Amorphous solid

https://dl.doubtnut.com/l/_ZpZ4uIsUsacR
https://dl.doubtnut.com/l/_ct3doIOGhaW5


B. Crystalline solid

C. Anisotropic

D. None

Answer: A

Watch Video Solution

180. A solid having no definite geometrical

shape with flat faces and sharp edges is :

A. Amorphous solid

https://dl.doubtnut.com/l/_ct3doIOGhaW5
https://dl.doubtnut.com/l/_tDssQSBhxtXU


B. Crystalline solid

C. Isotropic solid

D. None

Answer: B

Watch Video Solution

181. The crystals are bounded by plane faces

(f), straight edges (e) and interfacial angle (c).

The relationship between these is :

https://dl.doubtnut.com/l/_tDssQSBhxtXU
https://dl.doubtnut.com/l/_cUzOhspYOzPW


A. f+c = e+2

B. f+e = c+2

C. c+e = f+2

D. None

Answer: A

Watch Video Solution

182. A cubic crystal possesses :

A. 9 Plane of symmetry

https://dl.doubtnut.com/l/_cUzOhspYOzPW
https://dl.doubtnut.com/l/_0VYz6p1jabLq


B. 13 axis of symmetry

C. 1 centre of symmetry

D. All

Answer: D

Watch Video Solution

183. A cubic crystal possesses in all …….

Elements of symmetry .

A. 9

https://dl.doubtnut.com/l/_0VYz6p1jabLq
https://dl.doubtnut.com/l/_7jLCarYnBvSF


B. 13

C. 1

D. 23

Answer: D

Watch Video Solution

184. The statement that , .. It is possible to

choose along the three coordinate axes unit

distance a,b,c not necessarily of the same

length ,such that the ratio of there intercepts

https://dl.doubtnut.com/l/_7jLCarYnBvSF
https://dl.doubtnut.com/l/_cytUtzV5FJp8


of any plane in the crystal ,is given by in ma :

nb:pc where m,n,p are either integral whole

numbers including infinity or fraction of whole

number, ..is known as :

A. Hauy.s law of rationality of indices

B. The law of constancy of interfacial

angles

C. The law of constancy of symmetry

D. None

Answer: A

https://dl.doubtnut.com/l/_cytUtzV5FJp8


Watch Video Solution

185. The elements of symmetry in a crystal are:

A. Hauy.s law of rationality of indices

B. The law of constancy of interfacial

angles

C. The law of constancy of symmetry

D. None

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_cytUtzV5FJp8
https://dl.doubtnut.com/l/_CC4z9XhTkhrs


186. The statement that, .. That crystals of

same substance can have different shapes

depending upon the number and size of faces

but the angle between the corresponding

faces remains constant .. is known as :

A. Hauy.s law of rationality of indices

B. The law of constancy of interfacial

angles

C. The law of constancy of symmetry

https://dl.doubtnut.com/l/_CC4z9XhTkhrs
https://dl.doubtnut.com/l/_21ZEusByRTxX


D. None

Answer: B

Watch Video Solution

187. The ratio of cations to anion in a

octahedral close packing is :

A. 0.414

B. 0.225

C. 0.02

https://dl.doubtnut.com/l/_21ZEusByRTxX
https://dl.doubtnut.com/l/_Ul29QYJxmjaq


D. None

Answer: A

Watch Video Solution

188. The ratio of cations to anion in a closed

pack tetrahedral is :

A. 1

B. 0.225

C. 0.02

https://dl.doubtnut.com/l/_Ul29QYJxmjaq
https://dl.doubtnut.com/l/_p2b6wqbhrwXV


D. None

Answer: B

Watch Video Solution

189. If a is the length of unit cell .then which

one is correct relationship :

A. For simple cubic lattice, Radius of metal

atom=a/2

https://dl.doubtnut.com/l/_p2b6wqbhrwXV
https://dl.doubtnut.com/l/_zh8oAqH29jjT


B. For bcc lattice, 

Radius of metal atom= 

C. For fcc lattice, 

Radius of metal atom =

D. All

Answer: D

Watch Video Solution

√3a

4

a

2√2

190. An amorphous solid is:

https://dl.doubtnut.com/l/_zh8oAqH29jjT
https://dl.doubtnut.com/l/_8EqT8vNhBQvd


A. Possess sharp melting points

B. Undergo clean cleavage when cut with

knife

C. Do not undergo clean cleavage when cut

with knife

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_8EqT8vNhBQvd


191. Which of the following will show

anisotropy?

A. Glass

B. NaBr`

C. plastic

D. rubber

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9ort8f8pfE9o
https://dl.doubtnut.com/l/_lKMz5WMLxCTe


192. The unit cell with crystallographic

dimensions  is

A. Cubic

B. Tetragonal

C. Monoclinic

D. Hexagonal

Answer: B

Watch Video Solution

a = b ≠ c, α = β = γ = 90∘

https://dl.doubtnut.com/l/_lKMz5WMLxCTe


193. The arrangement ABC, ABC ... is referred to

as

A. Octahedral close packing

B. Hexagonal close packing

C. Tetrahedral close packing

D. Cubic close packing

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_8Jp2DTMKriV8
https://dl.doubtnut.com/l/_XB53adpt5F91


194. The interparticle forces in solid hydrogen

are :

A. Hydrogen bonds

B. Covalent bonds

C. Coordinate bonds

D. van der Waals .forces

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_XB53adpt5F91


195. A solid X melts slightly above 273 K and is

a poor conductor of heat and electricity. To

which of the following categories does it

belong :

A. Ionic solid

B. Covalent solid

C. metallic

D. Molecular

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_B67GqTUQbW11


Watch Video Solution

196. The unit cell with the structure below

refers to …….. Crystal system. 

A. Cubic

B. Orthorhombic

C. Tetragonal

https://dl.doubtnut.com/l/_B67GqTUQbW11
https://dl.doubtnut.com/l/_TcpEsZdWv8HY


D. Trigonal

Answer: B

Watch Video Solution

197. Find  and  for the

function 

f(√2) f( − √3)

https://dl.doubtnut.com/l/_TcpEsZdWv8HY
https://dl.doubtnut.com/l/_KA0fkLILn0T2


A. AB

B. 

C. 

D. 

Answer: C

Watch Video Solution

AB2

A2B

A3B4

198. The example of ortho silicate is :

A. MgCaSi2O6

https://dl.doubtnut.com/l/_KA0fkLILn0T2
https://dl.doubtnut.com/l/_RyRIr9QUm84g


B. 

C. 

D. 

Answer: B

Watch Video Solution

Mg2SiO4

Fe2O3SiO2

Ba3Al2Si6O8

199. A binary solid  has a zinc blende

structure with ions constituting the

lattice and ions occupying 

tetrahedral holes .The formula of solid is :

(A+B− )

B−

A+ 25 %

https://dl.doubtnut.com/l/_RyRIr9QUm84g
https://dl.doubtnut.com/l/_NRzCMqalNYjT


A. AB

B. 

C. 

D. 

Answer: C

Watch Video Solution

A2B

AB2

AB4

200. The radius of  is 95 pm and  ion

181 pm. Find co-ordination number of 

ion.

Na+ Cl−

Na+

https://dl.doubtnut.com/l/_NRzCMqalNYjT
https://dl.doubtnut.com/l/_2qhS80e7Tle0


A. 4

B. 6

C. 8

D. Unpredictable

Answer: B

Watch Video Solution

201. An alloy of copper, silver and gold is found

to have copper constituting the ccp lattice . If

silver atoms occupy the edge centre and gold

https://dl.doubtnut.com/l/_2qhS80e7Tle0
https://dl.doubtnut.com/l/_eL414KgDkWUa


is present at body centre, the alloy has a

formula :

A. 

B. 

C. 

D. CuAgAu

Answer: C

Watch Video Solution

Cu4Ag2Au

Cu4Ag4Au

Cu4Ag3Au

https://dl.doubtnut.com/l/_eL414KgDkWUa


202. Which is an example of ferroelectric

compound ?

A. Quartz

B. 

C. Barium titanate

D. None

Answer: C

Watch Video Solution

PbCrO4

https://dl.doubtnut.com/l/_aYeIXKB8UdL9
https://dl.doubtnut.com/l/_howldo0qY7wS


203. Which one is called pseudo solid ?

A. 

B. Glass

C. NaCl

D. All

Answer: B

Watch Video Solution

Caf2

https://dl.doubtnut.com/l/_howldo0qY7wS


204. The yellow colour of ZnO and conducting

nature produced in heating is due to :

A. Meta excess defects due to interstitial

cation

B. Extra positive ions present in an

interstitial site

C. Trapped electrons

D. All

Answer: D

https://dl.doubtnut.com/l/_lLjF75RgdR25


Watch Video Solution

205. The phenomenon in which crystals on

subjecting to a pressure or mechanical stress

produce electricity is called :

A. Pyroelectricity

B. Piezoelectric effect

C. Ferro electricity

D. Ferri electricity

Answer: B

https://dl.doubtnut.com/l/_lLjF75RgdR25
https://dl.doubtnut.com/l/_YW35bYP2PE2D


Watch Video Solution

206. The phenomenon in which polar crystals

on heating produce electricity is called :

A. Pyroelectricity

B. Piezoelectricity

C. Ferro electricity

D. Ferri electricity

Answer: A

https://dl.doubtnut.com/l/_YW35bYP2PE2D
https://dl.doubtnut.com/l/_cRKEyaS5Z7AI


Watch Video Solution

207. silicon doped with arsenic is an example

of :

A. p-type conductor

B. n-type conductor

C. both

D. None

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_cRKEyaS5Z7AI
https://dl.doubtnut.com/l/_mFd1LY3sDGYW


208. The number of octahedral sites in a

cubical close pack array of N spheres is :

A. N/2

B. 2N

C. 4N

D. N

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_mFd1LY3sDGYW
https://dl.doubtnut.com/l/_LPOFfX7hXCbo


209. In a close pack array of n spheres, the

number of tetrahedral holes are :

A. 4N

B. N/2

C. 2N

D. N

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_zU1XBiUej8Fl
https://dl.doubtnut.com/l/_RzhOxUlkJB5S


210. The coordination number of a metal

crystallising in a hexagonal close-packed

structure is :

A. 12

B. 4

C. 8

D. 6

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_RzhOxUlkJB5S
https://dl.doubtnut.com/l/_8Jor1E5RxHw6


211. In a cubic close packing of spheres in there

dimensions the coordination number of each

sphere is:

A. 6

B. 9

C. 3

D. 12

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_8Jor1E5RxHw6


212. If the position of  and  are

interchanged in NaCl, the crystal Iattice with

respect to  and  is :

A. Both fcc

B. Both bcc

C. fcc and bcc

D. bcc and fcc

Answer: A

Watch Video Solution

Na+ Cl−

Na+ Cl−

https://dl.doubtnut.com/l/_Hw8bvlSMwfYu


213. Which of the following statement is not

correct ?

A. The coordination number of each type of

ion in CsCl crystal is 8.

B. A metal that crystallises in bcc structure

has a coordination no .of 12.

C. A unit cell of an ionic crystal shares

some of its ions with other unit cells .

https://dl.doubtnut.com/l/_iumjSs5mDikA


D. The length of the unit cell in NaCl is 552

pm  .

Answer: B

Watch Video Solution

(rNa+ = 95 ± , rCl− = 181 ± )

214. A compound alloy of gold and Cu

crystallises in a cubic lattice in which the gold

atoms occupy the lattice points at the comers

of a cube and the copper atoms occupy the

https://dl.doubtnut.com/l/_iumjSs5mDikA
https://dl.doubtnut.com/l/_7F3YiLs3d76r


centres of each of the cube faces. What is the

empirical formula of this compound ?

A. 

B. 

C. 

D. AuCu

Answer: A

Watch Video Solution

AuCu3

Au3Cu

Au2Cu3

https://dl.doubtnut.com/l/_7F3YiLs3d76r


215. The intermetallic compound LiAg has a

cubic crystalline structure in which each Li

atom has 8 nearest neighbour silver atoms

and vice-versa .What is the type of unit cell ?

A. Body-centred cubic

B. Face-centred cubic

C. Simple cubic for either Li atoms alone or

Ag atoms alone

D. None of the above

https://dl.doubtnut.com/l/_oGK4jb5oy9mE


Answer: A

Watch Video Solution

216. How many tetrahedral holes are occupied

in diamond ?

A. 

B. 

C. 

D. 

25 %

50 %

75 %

100 %

https://dl.doubtnut.com/l/_oGK4jb5oy9mE
https://dl.doubtnut.com/l/_aCeJCTuIxTJv


Answer: B

Watch Video Solution

217. How many octahedral and terahedral

holes are present per unit cell in a face -

centred cubic arrangement of atoms?

A. 8,4

B. 1,2

C. 4,8

D. 2,1

https://dl.doubtnut.com/l/_aCeJCTuIxTJv
https://dl.doubtnut.com/l/_rUBDihv9J446


Answer: C

Watch Video Solution

218. When arrangement of electrons leads to

ferromagnetism?

A. 

B. 

C. Both (a) and (b)

D. None

↑ ↑ ↑ ↑

↑ ↑ ↑ ↑

https://dl.doubtnut.com/l/_rUBDihv9J446
https://dl.doubtnut.com/l/_v5VqaDZ9hZvZ


Answer: B

Watch Video Solution

219. How many .nearest. and. next nearest.

neighbours respectively potassium have in bcc

lattice ?

A. 8,8

B. 8,6

C. 6,8

D. 8,2

https://dl.doubtnut.com/l/_v5VqaDZ9hZvZ
https://dl.doubtnut.com/l/_WLwHvyIJCF7Q


Answer: B

Watch Video Solution

220. Ferrimagnetic is converted into

ferromagnetic at :

A. 300 K

B. 400 K

C. 600 K

D. 850 K

https://dl.doubtnut.com/l/_WLwHvyIJCF7Q
https://dl.doubtnut.com/l/_oivQwS1oVVt7


Answer: D

Watch Video Solution

221. Bragg's equation is:

A. 

B. 

C. 

D. 

Answer: B

nλ = 2 sin θ

nλ = 2d sin θ

2d = nλ sin θ

nλ = d sin θ

https://dl.doubtnut.com/l/_oivQwS1oVVt7
https://dl.doubtnut.com/l/_MkHOOSQs0X9k


Watch Video Solution

222. Fraction of the total volume occupied by

atoms in a simple cube is :

A. 

B. 

C. 

D. 

Answer: D

π

2

√3π

8

√2π

6

π

6

https://dl.doubtnut.com/l/_MkHOOSQs0X9k
https://dl.doubtnut.com/l/_Mbt7qOOOSH8J


Watch Video Solution

223. The number of atoms (n) contained within

a cubic cell is :

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Mbt7qOOOSH8J
https://dl.doubtnut.com/l/_WOcDtA0AgEfm


224. The number of atoms/molecules present

in one body centred cubic unit cell is:

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_WOcDtA0AgEfm
https://dl.doubtnut.com/l/_lY10PKQ2mgxz


225. The number of atoms/molecules

contained in one face centred cubic unit cell of

a monoatomic substance is:

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_5t15qPB8Hr1p


226. A compound formed by elements A and B

crystallizes in cubic structure where A atoms

are at the corners of a cube and B atoms are

at the face centre. The formula of the

compound is :

A. 

B. 

C. 

D. None of these

Answer: A

AB3

AB2

AB4

https://dl.doubtnut.com/l/_z89xuxFa8Hyu


Watch Video Solution

227. A fcc element (atomic mass =60) has a cell

edge of 400pm. Its density is :

A. 

B. 

C. 

D. 

Answer: A

6.23gcm− 3

6.43gcm− 3

6.53gcm− 3

6.63gcm− 3

https://dl.doubtnut.com/l/_z89xuxFa8Hyu
https://dl.doubtnut.com/l/_h1jETvKuDiZj


Watch Video Solution

228. A compound CuCl has face centred cubic

structure. Its density is .The length

of unit cell is :

A. 

B. 

C. 

D. 

Answer: A

3.4gcm− 3

5.783
∘
A

6.783
∘
A

7.783
∘
A

8.783
∘
A

https://dl.doubtnut.com/l/_h1jETvKuDiZj
https://dl.doubtnut.com/l/_v4Y7owcKC8Jr


Watch Video Solution

229. The density of KCl is  and

the length of a side unit is  as

determined by X-Rays diffraction. The value of

Avogadro.s number calculated from these data

is :

A. 

B. 

C. 

D. 

1.9893gcm− 3

6.29082
∘
A

6.017X1023

6.023X1023

6.03X1023

6.017X1019

https://dl.doubtnut.com/l/_v4Y7owcKC8Jr
https://dl.doubtnut.com/l/_7ZV04z3mgpcy


Answer: A

Watch Video Solution

230. A unit cell cube length for LiCl (just like

NaCl structure) is . Assuming anion-

anion contact, the ionic radius for chloride ion

is :

A. 

B. 

C. 

5.14
∘
A

1.815
∘
A

2.8
∘
A

3.8
∘
A

https://dl.doubtnut.com/l/_7ZV04z3mgpcy
https://dl.doubtnut.com/l/_uYFB2lU08pFF


D. 

Answer: A

Watch Video Solution

4.815
∘
A

231. At room temperature ,sodium crystallizes

in a body centred cubic lattice with

.The theoretical density of sodium (At.wt.of

Na=23)is:

A. 

a = 4.24
∘
A

1.002gcm− 3

https://dl.doubtnut.com/l/_uYFB2lU08pFF
https://dl.doubtnut.com/l/_gXvJKfXuTvZp


B. 

C. 

D. None of these

Answer: A

Watch Video Solution

2.002gcm− 3

3.002gcm− 3

232. Lithium borohydride crystallizes in an

orthorhombic system with 4 molecule per unit

cell .The unit cell dimensions are

.If thea = 6.8
∘
A, b = 4.4

∘
A and c = 7.2

∘
A

https://dl.doubtnut.com/l/_gXvJKfXuTvZp
https://dl.doubtnut.com/l/_cIdf7QpMJ4L7


molar mass is 21.76 then the density of crystals

is :

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

0.6708gcm− 3

1.6708gcm− 3

2.6708gcm− 3

https://dl.doubtnut.com/l/_cIdf7QpMJ4L7


233. Sodium metal crystalizes in a body

centred cubic lattice with the cell edge

.The radius of sodium atom is :

A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

a = 4.29
∘
A

1.8574
∘
A

2.8574
∘
A

3.8574
∘
A

https://dl.doubtnut.com/l/_jPFGlEAY0bRH


234. A solid compound X Y has NaCl structure.

If radius of  is 100 pm . What is the radius

of  ion:

A. 120 pm

B. 321.6 pm

C. 136.6 pm

D. 241.6 pm

Answer: B

Watch Video Solution

X +

Y −

https://dl.doubtnut.com/l/_tWK8aVCWuub7


235. If 'a' is the edge length of the unit cell of a

fcc crystal, then what is the distance of closest

approach between the two atoms in the

crystal ?

A. 200 pm

B. 

C. 142.2 pm

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_uC42GFd8FLd4


236. A binary solid has a rock salt

structure .If the edge length is 400 pm and

radius of cation is 80 pm the radius of anion is

:

A. 120 pm

B. 125 pm

C. 250 pm

D. 325 pm

(A+B− )

https://dl.doubtnut.com/l/_uC42GFd8FLd4
https://dl.doubtnut.com/l/_YYepMFnGCuXZ


Answer: B

Watch Video Solution

237. The ionic radii of  and  are 

and . The most probable type of

structure exhibited by it is :

A. CsCl type

B. NaCl type

C. ZnS type

D. type

Rb+ I − 1.46
∘
A

2.16
∘
A

CaF2

https://dl.doubtnut.com/l/_YYepMFnGCuXZ
https://dl.doubtnut.com/l/_uPTyYThRDXsM


Answer: B

Watch Video Solution

238. The density of KBr is 2.75 gm 

length of the unit cell is 654 pm . K=39,Br=80,

then what is true about the predicted nature

of the solid:

A. Solid has face centred cubic system with

coordination number=6

cm− 3

https://dl.doubtnut.com/l/_uPTyYThRDXsM
https://dl.doubtnut.com/l/_wW7yzfkiz62h


B. Solid has simple cubic system with

coordination number =4

C. Solid has face centred cubic system with

coordination number =4

D. None

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_wW7yzfkiz62h


239. In a face centred cubic arrangement of A

and B atoms whose A atoms are at the corner

of the unit cell and B atoms at the face

centres: One of the A atom is missing from

one corner in unit cell . The simplest formula

of compund is :

A. 

B. 

C. 

D. 

A7B3

Ab3

A7B24

A B37
8

https://dl.doubtnut.com/l/_ZB6nsPzGVoUF


Answer: C

Watch Video Solution

240. The radius of  ion is 126 pm while

that of  ion is 216 pm . The coordination

number of Ag in Agl is :

A. 2

B. 4

C. 6

D. 8

Ag+

I −

https://dl.doubtnut.com/l/_ZB6nsPzGVoUF
https://dl.doubtnut.com/l/_caN6magmGvgo


Answer: C

Watch Video Solution

241. CsBr has bcc structure with edge length

4.3. The shortest inter ionic distance in

between  and  is :

A. 3.72

B. 1.86

C. 7.44

D. 4.3

Cs+ Br−

https://dl.doubtnut.com/l/_caN6magmGvgo
https://dl.doubtnut.com/l/_wWqwTNm7T4Hx


Answer: A

Watch Video Solution

242. Edge length of a cube is 400 pm. Its body

diagonal would be :

A. 600 pm

B. 566 pm

C. 693 pm

D. 500 pm

https://dl.doubtnut.com/l/_wWqwTNm7T4Hx
https://dl.doubtnut.com/l/_fS0KxPKefz3c


Answer: C

Watch Video Solution

243. IN a sodium chloride crystal, each chloride

ion is surrounded by :

A. 6 sodium ions

B. 6 chloride ions

C. 8 sodium ions

D. 4 sodium ions

https://dl.doubtnut.com/l/_fS0KxPKefz3c
https://dl.doubtnut.com/l/_eeeqDVOPkzDU


Answer: A

Watch Video Solution

244. The structure of NaCl crystal is :

A. Body centred cubic lattice

B. Face centred cubic lattice

C. Octahedral

D. Square planar

Answer: B

https://dl.doubtnut.com/l/_eeeqDVOPkzDU
https://dl.doubtnut.com/l/_eZGt1avJ7T3c


Watch Video Solution

245. The total number of atoms per unit cell of

a face centred cubic crystal is

A. 2

B. 3

C. 4

D. 14

Answer: C

https://dl.doubtnut.com/l/_eZGt1avJ7T3c
https://dl.doubtnut.com/l/_IPBQHmtYhxti


Watch Video Solution

246. A crystal may have one or more planes of

symmetry as well as one or more axes of

symmetry but it has :

A. Two centres of symmetry

B. No centre of symmetry

C. One centre of symmetry

D. Four centres of symmetry

Answer: C

https://dl.doubtnut.com/l/_IPBQHmtYhxti
https://dl.doubtnut.com/l/_ELnyBIc88BN6


Watch Video Solution

247. The total number of symmetry in a cubic

crystal is :

A. 9

B. 23

C. 10

D. None

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ELnyBIc88BN6
https://dl.doubtnut.com/l/_rqc8fhonQlMl


248. The structure of CsCI crystal is:

A. Body centred cubic lattice

B. Face centred cubic lattice

C. Octahedral

D. None

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_rqc8fhonQlMl
https://dl.doubtnut.com/l/_3N8rQ2XwTSKL
https://dl.doubtnut.com/l/_mqHCJuLdsVii


249. Close packing is maximum in the crystal

which is -

A. Simple cube

B. Face centred cube

C. Body centred cube

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mqHCJuLdsVii


250. The number of atoms per unit cell in a

simple cube, face centred cube and body

centred cube are rrepectively:

A. 1,4,2

B. 1,2,4

C. 8,14,9

D. 8,4,2

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_n2ddntiZOkUW


251. The coordination number of a body

centred atom is:

A. 4

B. 6

C. 8

D. 12

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_4N91sjUBZCwU
https://dl.doubtnut.com/l/_b7YwKK42nard


252. Bragg’s equation has no solution if:

A. 

B. 

C. 

D. All

Answer: B

Watch Video Solution

nλ = 2d

nλ > 2d

nλ < 2d

https://dl.doubtnut.com/l/_b7YwKK42nard


253. In a body centred cubic arrangement the

ion A occupies the centre while the ,ions B

occupy the corners of a cube the formula of

the crystal is:

A. AB

B. 

C. 

D. 

Answer: A

Watch Video Solution

A2B

AB2

AB3

https://dl.doubtnut.com/l/_Fh7D67QHpVj4


Watch Video Solution

254. A crystalline solid

A. Isotropic

B. Sharp melting point

C. Definite geometry

D. High intarmolecular forces

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Fh7D67QHpVj4
https://dl.doubtnut.com/l/_BWWVjmLdMyHl
https://dl.doubtnut.com/l/_O94cnO1CtbwC


255. The number of Bravais lattices in a cubic

crystal is:

A. 3

B. 1

C. 4

D. 14

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_O94cnO1CtbwC


256. The volume occupied by an atom in a

simple cubic unit cell is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a3

4πa3

3

πa3

6

√3π

8

https://dl.doubtnut.com/l/_ZvLVTBosCAkb
https://dl.doubtnut.com/l/_SHvnoAh7e9oN


257. The atomic radius of a body centred cubic

cell is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a

2

√2a

4

√3a

4

a

4

https://dl.doubtnut.com/l/_SHvnoAh7e9oN


258. Iron crystallizes in a body centred cubic

structure. Calculate the radius of Fe if edge

length of unit cell is 286 pm.

Watch Video Solution

259. In a face centred cubic crystal of an

element, if the edge length of the unit cell is

580 pm, calculate the nearest neighbour

distance and radius of the atom

Watch Video Solution

https://dl.doubtnut.com/l/_V5gmUD5OkEe1
https://dl.doubtnut.com/l/_SdbujbmY0f8p


260. In a bcc crystal of a metal having atomic

mass 55, if its edge length is 291 picometer,

calculate the density of crystal.

Watch Video Solution

261. Which state of matter has definite mass,

volume and shape ?

Watch Video Solution

https://dl.doubtnut.com/l/_SdbujbmY0f8p
https://dl.doubtnut.com/l/_gcNdIjWDqMQk
https://dl.doubtnut.com/l/_CpQ9udf6B2e5
https://dl.doubtnut.com/l/_gWecnQu3JifM


262. What is amorphous solid ?

Watch Video Solution

263. Which solids behave like super cooled

liquid ?

Watch Video Solution

264. Which type of solids have long range

order and sharp melting point ?

Watch Video Solution

https://dl.doubtnut.com/l/_gWecnQu3JifM
https://dl.doubtnut.com/l/_LUz09hwHmYqM
https://dl.doubtnut.com/l/_oGSUBqxkkxhy


265. What are the different categories of

crystalline solids ?

Watch Video Solution

266. Which factors influence the properties Of

crystallinesolids ?

Watch Video Solution

https://dl.doubtnut.com/l/_oGSUBqxkkxhy
https://dl.doubtnut.com/l/_s49Hf0l0JeUf
https://dl.doubtnut.com/l/_Dn2TdZ3RrJE4


267. Give an example of hcp and bcc crystals.

Watch Video Solution

268. What is the coordination number of each

sphere in hexagonal close packed structure.

Watch Video Solution

269. What is the coordination number of each

sphere in :

https://dl.doubtnut.com/l/_g6Rg5WNkbZVT
https://dl.doubtnut.com/l/_rnQ8rJNAT7TO
https://dl.doubtnut.com/l/_GZSeCWvZIy7Q


Body-centred cubic structure.

Watch Video Solution

270. What is the coordination number of each

ion in NaCl ?

Watch Video Solution

271. What are the coordination numbers of

 and  in CsCl lattice ?

Watch Video Solution

Cs+ Cl−

https://dl.doubtnut.com/l/_GZSeCWvZIy7Q
https://dl.doubtnut.com/l/_SDDwW0FL7oIs
https://dl.doubtnut.com/l/_HSG0i4GGgHZl


272. What is the formula of density (d) of unit

cell ?

Watch Video Solution

273. What is called crystal lattice ?

Watch Video Solution

274. What is unit cell ?

https://dl.doubtnut.com/l/_HSG0i4GGgHZl
https://dl.doubtnut.com/l/_lguEPtxMipmx
https://dl.doubtnut.com/l/_gYWuyEcDrCRU
https://dl.doubtnut.com/l/_Y6aMNMADcneH


Watch Video Solution

275. How many types of primitive unit cells are

there ?

Watch Video Solution

276. Name two most efficient close packed

lattices.

Watch Video Solution

https://dl.doubtnut.com/l/_Y6aMNMADcneH
https://dl.doubtnut.com/l/_YsdhWiF0rBSj
https://dl.doubtnut.com/l/_cnXC1RNdepSb
https://dl.doubtnut.com/l/_KtEf7EpwxQ4q


277. Give two examples of amorphous solid.

Watch Video Solution

278. What is the arrangement of atom/ions in

bcc ?

Watch Video Solution

279. What is the radius ratio range

for ionic solids with bcc structure ?

(r+ /r− )

https://dl.doubtnut.com/l/_KtEf7EpwxQ4q
https://dl.doubtnut.com/l/_fRln0L4zmv7e
https://dl.doubtnut.com/l/_OdQiW7yvwaKy


Watch Video Solution

280. What is the co-ordination number of

 and  ions in  lattice ?

Watch Video Solution

Ca2 + F − CaF2

281. What is the coordination number of each

sphere in hexagonal close packed structure.

Watch Video Solution

https://dl.doubtnut.com/l/_OdQiW7yvwaKy
https://dl.doubtnut.com/l/_9DDGShaAV6Ak
https://dl.doubtnut.com/l/_NWuujVhoD6IS
https://dl.doubtnut.com/l/_BLxs8XCpg6HE


282. What is the coordination number of each

atom in ccp structure?

Watch Video Solution

283. What is co-ordination number of each

sphere in bcc packed structure ?

Watch Video Solution

284. _____solids are isotropic in nature.

Watch Video Solution

https://dl.doubtnut.com/l/_BLxs8XCpg6HE
https://dl.doubtnut.com/l/_BQ3D5JDFhFBu
https://dl.doubtnut.com/l/_puamqYRipJNZ


285. _____solids are anisotropic in nature.

Watch Video Solution

286. In most close-packed lattices, ______ % of

space is filled.

Watch Video Solution

https://dl.doubtnut.com/l/_puamqYRipJNZ
https://dl.doubtnut.com/l/_4UQnR0ULSAAG
https://dl.doubtnut.com/l/_qWVAXIh6LFhl


287. Cubic close-packed (ccp) lattice is also

called_____

Watch Video Solution

288. Two types of voids are_____and_____

Watch Video Solution

289. Iodine is ______type solid.

Watch Video Solution

https://dl.doubtnut.com/l/_kmtn6XjcNk88
https://dl.doubtnut.com/l/_2XyI2sqQmrhV
https://dl.doubtnut.com/l/_3dcchAHzWyLy


290. Ice is an example of______type crystal

Watch Video Solution

291. Two examples of covalent crystals

are_____and_____

Watch Video Solution

https://dl.doubtnut.com/l/_3dcchAHzWyLy
https://dl.doubtnut.com/l/_HjjGuX6lForb
https://dl.doubtnut.com/l/_yXQcj3MaTPdS


292. Crystal structure of CsCl is of_____type.

(fcc, bcc, hcp)

Watch Video Solution

293. In simple ionic crystals_____or______types of

arrangement are generally -present.

Watch Video Solution

https://dl.doubtnut.com/l/_JS5HgWar3wd3
https://dl.doubtnut.com/l/_GvXPK3hHRQBv


294. In ionic crystals______ions adopt ccp or

hcp arrangement, while_____ions occupy

interstitial sites

Watch Video Solution

295. In NaCl crystal______ions occupy all the

octahedral sites.

Watch Video Solution

https://dl.doubtnut.com/l/_vRXRNQ3pfEoU
https://dl.doubtnut.com/l/_uSGYiIQuzkTx


296. Co-ordination numbers of  and 

in CsCl crystal are in the ratio ?

Watch Video Solution

Cs+ Cl−

297. In NaCl crystal, one  ion is

surrounded by_____  ions.

Watch Video Solution

Na+

Cl−

https://dl.doubtnut.com/l/_cOXPuOZpK1ZJ
https://dl.doubtnut.com/l/_orfgjlY4uY2b


298. Two metals showing cubic close packed

(ccp) structure are_____and_____

Watch Video Solution

299. Two metals exhibiting hcp arrangement

are_____and_____

Watch Video Solution

https://dl.doubtnut.com/l/_eywrceh70nYy
https://dl.doubtnut.com/l/_1WlIycCLgkGi


300. In ionic crystals______ions adopt ccp or

hcp arrangement, while_____ions occupy

interstitial sites

Watch Video Solution

301. The number of nearest neighbours with

which a given sphere is in contact is

called______

Watch Video Solution

https://dl.doubtnut.com/l/_QdPfr95TPNNG
https://dl.doubtnut.com/l/_GxSzGcIpTOAe
https://dl.doubtnut.com/l/_Cl3XAqh7suR2


302. If radius ratio ( ) is in the range

0.414 to 0.732, the possible co-ordination

number is ______and structural arrangement is

______

Watch Video Solution

r+ /r−

303. Zinc blende type structure has_____co-

ordination, while cesium chloride type,

structure has ______co-ordination.

Watch Video Solution

https://dl.doubtnut.com/l/_Cl3XAqh7suR2
https://dl.doubtnut.com/l/_pAASQxpB32RO


304. Carborandum and dry ice are

_____and_____type of crystal respectively

Watch Video Solution

305. Co-ordination numbers of  and 

in CsCl crystal are in the ratio ?

Watch Video Solution

Cs+ Cl−

https://dl.doubtnut.com/l/_66hr7KdtVL81
https://dl.doubtnut.com/l/_EsOimuHYk3iq


306. Zinc blende type structure has what co-

ordination ratio?

Watch Video Solution

307. Iodine is an ionic type solid.

Watch Video Solution

308. In most close-packed lattices, ______ % of

space is filled.

https://dl.doubtnut.com/l/_dGXhSg4jXSI0
https://dl.doubtnut.com/l/_x8Mp4HAxWnDe
https://dl.doubtnut.com/l/_WgSiaRJlY2tT


Watch Video Solution

309. Cubic close-packed (ccp) lattice also called

bcc is it true or false?

Watch Video Solution

310. Why solids have definite mass, volume and

shape ?

Watch Video Solution

https://dl.doubtnut.com/l/_WgSiaRJlY2tT
https://dl.doubtnut.com/l/_adbGUxglx7Ir
https://dl.doubtnut.com/l/_kJ22RWlvouov
https://dl.doubtnut.com/l/_kZOGOENOSrak


311. What are Bravais Lattices ?

Watch Video Solution

312. Name two most efficient close packed

lattices.

Watch Video Solution

313. How can you convert NaCl structure to

CsCl structure and vice versa ?

https://dl.doubtnut.com/l/_kZOGOENOSrak
https://dl.doubtnut.com/l/_hEUakrTdEdH9
https://dl.doubtnut.com/l/_J6RU3ua7t5Ni


Watch Video Solution

314. What are the common types of defects in

solids ?

Watch Video Solution

315. What are different types of points defects

?

Watch Video Solution

https://dl.doubtnut.com/l/_J6RU3ua7t5Ni
https://dl.doubtnut.com/l/_ENnQCBnOIMAZ
https://dl.doubtnut.com/l/_5ltnbzPVIDiB
https://dl.doubtnut.com/l/_55dLhPnsqmHt


316. Distinguish between anisotropy and

isotropy.

Watch Video Solution

317. Calculate the number of atoms contained

within face-centred cubic cm.

Watch Video Solution

318. Predict the percentage of space filled by

particles in bcc

https://dl.doubtnut.com/l/_55dLhPnsqmHt
https://dl.doubtnut.com/l/_jwNlyKBDzxAB
https://dl.doubtnut.com/l/_4guYGu6F71hz


Watch Video Solution

319. Predict the percentage of space filled by

particles in bcc

Watch Video Solution

320. Predict the percentage of space filled by

particles in simple cubic lattice.

Watch Video Solution

https://dl.doubtnut.com/l/_4guYGu6F71hz
https://dl.doubtnut.com/l/_SBPahmHPa8lP
https://dl.doubtnut.com/l/_2aNxJa5ZjdRm
https://dl.doubtnut.com/l/_YlNJuS4td8w8


321. Define unit cell and ‘space lattice’. What do

you understand by simple, face-centred and

body-centred unit cell.

Watch Video Solution

322. Briefly describe the main features of each

of the different types of structures of the ionic

compounds of the type AB.

Watch Video Solution

https://dl.doubtnut.com/l/_YlNJuS4td8w8
https://dl.doubtnut.com/l/_xNgI4h1RDhiL
https://dl.doubtnut.com/l/_mX8LUFkJHTqu


323. Briefly describe how the packing of the

constituent particles in a crystal takes place.

Watch Video Solution

324. What is meant by radius ratio ? How is it-

helpful in determining the geometry of the

ionic solid ?

Watch Video Solution

https://dl.doubtnut.com/l/_mX8LUFkJHTqu
https://dl.doubtnut.com/l/_RmoHGUPTxP50


325. Give the difference between crystalline

solids and amorphous solids?

Watch Video Solution

326. On the basis of the nature of bonding

how can solids be classified into different

types ?

Watch Video Solution

https://dl.doubtnut.com/l/_EqwO4Quah8U1
https://dl.doubtnut.com/l/_gs1AapTA8i0Q


327. Explain fcc and bcc type of crystal

structure and describe their characteristics.

Watch Video Solution

328. Describe the characteristics of hexagonal

close packed structure giving examples.

Watch Video Solution

https://dl.doubtnut.com/l/_BinLcc4RzhcI
https://dl.doubtnut.com/l/_IlOazqm127mI


329. Giving only the example describe, the

crystal of some simple ionic compounds.

Watch Video Solution

330. Briefly describe various types of point

deffects with examples.

Watch Video Solution

https://dl.doubtnut.com/l/_n4BQ6VSWvVDd
https://dl.doubtnut.com/l/_sUuObOqLPMwB


331. Explain electrical properties of solids

using band theory.

Watch Video Solution

332. Briefly explain various types of magnetic

properties of solids

Watch Video Solution

https://dl.doubtnut.com/l/_OrBv3sgGo1Qh
https://dl.doubtnut.com/l/_D1vhhSKJZJnh


333. Discuss the formation of n-type

semiconductors,

Watch Video Solution

334. Discuss the formation of p-type

semiconductors,

Watch Video Solution

335. An amorphous solid is:

https://dl.doubtnut.com/l/_39xREDcnrhkU
https://dl.doubtnut.com/l/_nSOQbJ25bJBl
https://dl.doubtnut.com/l/_t4c0FYRJHWet


A. Diamond

B. Graphite

C. Glass

D. Common salt

Answer: C

Watch Video Solution

336. The number of basic crystal systems are:

A. 7

https://dl.doubtnut.com/l/_t4c0FYRJHWet
https://dl.doubtnut.com/l/_mepELeL6zzdm


B. 8

C. 6

D. 4

Answer: A

Watch Video Solution

337. Bragg's equation is:

A. 

B. 

nλ = 2θ sin θ

nλ = 2d sin θ

https://dl.doubtnut.com/l/_mepELeL6zzdm
https://dl.doubtnut.com/l/_GgYOZXkMkCMP


C. 

D. 

Answer: B

Watch Video Solution

2nλ = d sin θ

λ = (2 )sin θ
d

n

338. Which is/are covalent solid:

A. 

B. Diamond

C. Graphite

Fe2O3

https://dl.doubtnut.com/l/_GgYOZXkMkCMP
https://dl.doubtnut.com/l/_tDDnFU6gRMLG


D. All

Answer: D

Watch Video Solution

339. Graphite is an example of:

A. Ionic solid

B. Covalent solid

C. Van der Waal's crystal

D. Methallic crystal

https://dl.doubtnut.com/l/_tDDnFU6gRMLG
https://dl.doubtnut.com/l/_WOzWOdHEY78G


Answer: B

Watch Video Solution

340. The number of atoms/molecules

contained in one face centred cubic unit cell of

a monoatomic substance is:

A. 4

B. 6

C. 8

D. 12

https://dl.doubtnut.com/l/_WOzWOdHEY78G
https://dl.doubtnut.com/l/_kEifD4m56ELe


Answer: A

Watch Video Solution

341. The number of atoms present in a simple

cubic unit cell are:

A. 4

B. 3

C. 2

D. 1

https://dl.doubtnut.com/l/_kEifD4m56ELe
https://dl.doubtnut.com/l/_VRqpfdSL4OCG


Answer: D

Watch Video Solution

342. The rank of a cubic unit cell is 4. The type

of cell as:

A. Body centred

B. Face centred

C. Primitive

D. None

https://dl.doubtnut.com/l/_VRqpfdSL4OCG
https://dl.doubtnut.com/l/_7A7hNe1u35uN


Answer: B

Watch Video Solution

343. 8 : 8 coordination is noticed in:

A. Applying pressure

B. Increasing temperature

C. Both (a) and (b)

D. None

Answer: B

https://dl.doubtnut.com/l/_7A7hNe1u35uN
https://dl.doubtnut.com/l/_arbCnalxnGWd


Watch Video Solution

344. In a crystal some ions are missing from

normal sites This is an example of:

A. F-centres

B. Interstitial defect

C. Frenkel defect

D. Schottky defect

Answer: D

https://dl.doubtnut.com/l/_arbCnalxnGWd
https://dl.doubtnut.com/l/_Pbc9jpVsPCCt


Watch Video Solution

345. Among the following type of voids, which

one is the largest void:

A. Triangular

B. Cubic

C. Tetrahedral

D. Octahedral

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Pbc9jpVsPCCt
https://dl.doubtnut.com/l/_p2PH4NLNFvFA


346.  is well known example of

A. Triclinic system

B. Tetragonal system

C. Monoclinic system

D. None

Answer: B

Watch Video Solution

TiO2

https://dl.doubtnut.com/l/_p2PH4NLNFvFA
https://dl.doubtnut.com/l/_TFktfKIEBOaJ
https://dl.doubtnut.com/l/_bP7IfSC1PWxX


347. Ionic salts on dissolution in a solvent

shows:

A. A decrease in the viscosity of the liquid

B. An increase in the viscosity of the liquid

C. No effect on the viscosity of the liquid

D. None

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bP7IfSC1PWxX


348. Ionic solids are characterised by:

A. Good conductivity in solid state

B. High vapour pressure

C. Low melting point

D. Solubility in polar solvents

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_elh4vni1wDUm


349. Each unit cell of NaCI consists of 4

chloride ions and:

A. 13 Na atoms

B. 4 Na ions

C. 6 Na atoms

D. 8 Na atoms

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_oP6bvE4KWzFe
https://dl.doubtnut.com/l/_29ZPOE0xkPBF


350. Silicon dioxide is an example of:

A. Metallic crystal

B. Ionic crystal

C. Covalent crystal

D. None

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_29ZPOE0xkPBF


351. Crystals which are good conductor of heat

and electricity are -

A. Ionic crystals

B. Covalent crystals

C. Metallic crystals

D. Molecular crystals

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dqcWZsleezmj
https://dl.doubtnut.com/l/_RPBIxq9bbSLE


352. LiF is a/an:

A. Ionic crystal

B. Metallic crystal

C. Covalent crystal

D. Molecular crystal

Answer: A

Watch Video Solution

353. The structure of CsCI crystal is:

https://dl.doubtnut.com/l/_RPBIxq9bbSLE
https://dl.doubtnut.com/l/_SjA2xoGK646J


A. Body centred cubic lattice

B. Face centred cubic lattice

C. Octahedral lattice

D. None

Answer: A

Watch Video Solution

354. ZnS is:

A. Ionic crystal

https://dl.doubtnut.com/l/_SjA2xoGK646J
https://dl.doubtnut.com/l/_P0hKuRi0DYnQ


B. Covalent crystal

C. Metallic crystal

D. van der Waals crystal

Answer: A

Watch Video Solution

355. In graphite crystal, carbon is:

A. sp-hybridised

B. sp2 − hybridised

https://dl.doubtnut.com/l/_P0hKuRi0DYnQ
https://dl.doubtnut.com/l/_TFI87euKeqqF


C. 

D. None

Answer: B

Watch Video Solution

sp3 − hybridised

356. In diamond carbon is……hybridised.

A. sp

B. 

C. 

sp2

sp

https://dl.doubtnut.com/l/_TFI87euKeqqF
https://dl.doubtnut.com/l/_3YRpiTuybFzI


D. None

Answer: C

Watch Video Solution

357.  and  show:

A. Isomorphism

B. Polymorphism

C. Allotropism

D. Ferromagnetism

Na2SeO4 NaSO4

https://dl.doubtnut.com/l/_3YRpiTuybFzI
https://dl.doubtnut.com/l/_tK5A9kHdfcGs


Answer: A

Watch Video Solution

358. A crystal of  is:

A. Paramagnetic

B. Diamagnetic

C. Ferromagnetic

D. None

Answer: C

Fe3O4

https://dl.doubtnut.com/l/_tK5A9kHdfcGs
https://dl.doubtnut.com/l/_sVJtpmh9IhzV


Watch Video Solution

359. Which one is correct about ferrites?

A. 

B. 

C. Both (a) and (b)

D. None

Answer: B

Watch Video Solution

KNO3NaNO3

Cr2O3Fe2O3

https://dl.doubtnut.com/l/_sVJtpmh9IhzV
https://dl.doubtnut.com/l/_eW4lKokyOFLH


360. Which one is correct about ferrites?

A. These possess formula (where A

is divalent and B is trivalent cation)

B. These possess spinel structure

C. is a ferrite

D. All

Answer: D

Watch Video Solution

AB2O4

MgAI2O4

https://dl.doubtnut.com/l/_eW4lKokyOFLH
https://dl.doubtnut.com/l/_iSOmhTrRFZFC


361. The structure of sodium chloride is

A. Body centred cubic lattice

B. Face centred cubic lattice

C. Octahedral

D. Square planar

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XY61hBk8MXot


362. Most crystals show good cleavage

because their atoms, ions and molecules are:

A. Weakly bonded together

B. Strongly bonded together

C. Spherically symmetrical

D. Arranged in planes

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_VLNSvREhqpEx
https://dl.doubtnut.com/l/_KB6Ax1zJBnVi


363. Which of the following statements are

true?

A. Piezoelectricity is due to not dipole

moment

B. Ferro electricity is due to allignment of

dipoles in same direction

C. Pyroelectricity is due to heating polar

crystals

D. All

Answer: D

https://dl.doubtnut.com/l/_KB6Ax1zJBnVi


Watch Video Solution

364. Frenkel defect is noticed in:

A. AgBr

B. ZnS

C. AgI

D. All

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_KB6Ax1zJBnVi
https://dl.doubtnut.com/l/_yjBINnNQEr99


365. Schottky defect is noticed is:

A. NaCI

B. KCI

C. CsCI

D. All

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yjBINnNQEr99
https://dl.doubtnut.com/l/_g7VczGC8Nqc4


366. In a body centred cubic cell, an atom at

the body of centre is shared by:

A. 1 unit cell

B. 4 unit cells

C. 3 unit cells

D. 2 unit cells

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_N4w3SQZiRSte
https://dl.doubtnut.com/l/_UPj15E32aGrt


367. In a simple cubic cell, each atom on a

corner is shared by:

A. 2 unit cells

B. 1 unit cell

C. 8 unit cells

D. 4 unit cells

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UPj15E32aGrt


368. In a face centred cubic cell, an atom at the

face centre is shared by:

A. 4 unit cells

B. 2 unit cell

C. 1 unit cells

D. 6 unit cells

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_K0ZfCbuVKtPz
https://dl.doubtnut.com/l/_orQtzgnt6CQg


369. When arrangement of electrons leads to

ferromagnetism?

A. 

B. 

C. uarruarruarrdarrdarr`

D. None

Answer: C

Watch Video Solution

↑ ↑ ↑ ↓ ↓

↑ ↓ ↑ ↓

https://dl.doubtnut.com/l/_orQtzgnt6CQg


370. The number of  ions which

surrounds each  ion in the NaCI crystal

lattice is:

A. 4

B. 6

C. 12

D. 8

Answer: B

Watch Video Solution

Na+

Cl−

https://dl.doubtnut.com/l/_VumWivI70fQg


371. The mass of a unit cell of CsCI

corresponds to:

A.  and 

B.  and 

C.  and 

D.  and

Answer: C

Watch Video Solution

8Cs+ ICI _

1Cs+ 6CI _

1Cs+ ICI _

4Cs+ 4CI _

https://dl.doubtnut.com/l/_8bbfVHtXCEWR
https://dl.doubtnut.com/l/_YspfNOQQqtUp


372. The coordination number of a body

centred atom is:

A. 4

B. 6

C. 8

D. 12

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YspfNOQQqtUp


373. In a face centred cubic lattice the number

of nearest neighbours for a given lattice point

are:

A. 6

B. 8

C. 12

D. 14

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_MrIXa3vCGvQ2


374. Close packing is maximum in the crystal

which is -

A. Simple cubic

B. Face centred

C. Body centred

D. None

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Fcg5P4wLGAPT
https://dl.doubtnut.com/l/_ZeI3yLpUClOn


375. Which is (are) amorphous solids?

A. Rubber

B. Plastics

C. Glass

D. All

Answer: D

Watch Video Solution

376. Iodine crystals are:

https://dl.doubtnut.com/l/_ZeI3yLpUClOn
https://dl.doubtnut.com/l/_akWcT5gId2jW


A. Metallic solid

B. Ionic solid

C. Molecular solid

D. Covalent solid

Answer: C

Watch Video Solution

377. The number of molecules of NaCI in an

unit cell of its crystal is:

https://dl.doubtnut.com/l/_akWcT5gId2jW
https://dl.doubtnut.com/l/_Z6wU7Wl7ftnC


A. 2

B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

378. The coordination number of a body

centred atom is:

https://dl.doubtnut.com/l/_Z6wU7Wl7ftnC
https://dl.doubtnut.com/l/_uXqj2L4f30QL


A. 2

B. 6

C. 4

D. 8

Answer: C

Watch Video Solution

379. The ratio of closed packed atoms to

tetrahedral holes in cubic close packing is:

https://dl.doubtnut.com/l/_uXqj2L4f30QL
https://dl.doubtnut.com/l/_mRBbHcvjAtn8


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1: 1

1: 2

1: 3

2: 1

380. How many kinds of space lattices are

possible in a crystal?

https://dl.doubtnut.com/l/_mRBbHcvjAtn8
https://dl.doubtnut.com/l/_ScaI7tYIJKUL


A. 23

B. 7

C. 230

D. 14

Answer: D

Watch Video Solution

381. The vacant space in body centred cubic

lattice bcc unit cell is about:

https://dl.doubtnut.com/l/_ScaI7tYIJKUL
https://dl.doubtnut.com/l/_wOmxV6GOPAvf


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

32 %

10 %

23 %

46 %

382. A match box exhibits:

A. Cubic geometry

https://dl.doubtnut.com/l/_wOmxV6GOPAvf
https://dl.doubtnut.com/l/_BHXlOYE6lAyU


B. Monoclinic geometry

C. Orthorhombic geometry

D. Tetragonal geometry

Answer: C

Watch Video Solution

383. Which point defect in crystals of a solid

decreases the density of the solid ?

A. Schottky

https://dl.doubtnut.com/l/_BHXlOYE6lAyU
https://dl.doubtnut.com/l/_HrhcA0FLDKZU


B. Frenkel

C. F-centre

D. Interstitial

Answer: A

Watch Video Solution

384. Solid  is an example of:

A. Molecular crystal

B. Covalent crystal

CO2

https://dl.doubtnut.com/l/_HrhcA0FLDKZU
https://dl.doubtnut.com/l/_E2INw00Sggio


C. Metallic crystal

D. Ionic crystal

Answer: A

Watch Video Solution

385. The three states of matter are solid, liquid

and gas. Which of the following statements

are correct about them ?

https://dl.doubtnut.com/l/_E2INw00Sggio
https://dl.doubtnut.com/l/_UeikPrADGCFA


A. Gases and liquids have viscosity as a

common property

B. The molecules in all the three states

possess random translational motion

C. Gases cannot be converted into solids

without passing through the liquid

phase.

D. Solids and liquids have vapour pressure

as a common property

Answer: A

https://dl.doubtnut.com/l/_UeikPrADGCFA


Watch Video Solution

386. The intermetallic compound LiAg

crystallises in cubic lattice in which both Li and

Ag have co-ordination number of eight. The

class of crystal is:

A. Simple cubic

B. Body centred cubic

C. Face centred cubic

D. None

https://dl.doubtnut.com/l/_UeikPrADGCFA
https://dl.doubtnut.com/l/_RlmRwOMHCtgV


Answer: B

Watch Video Solution

387. The number of atoms/molecules present

in one body centred cubic unit cell is:

A. 1

B. 2

C. 4

D. 6

https://dl.doubtnut.com/l/_RlmRwOMHCtgV
https://dl.doubtnut.com/l/_PVjdhFbpFmCy


Answer: B

Watch Video Solution

388. Wax is an example of:

A. Ionic crystal

B. Covalent crystal

C. Molecular crystal

D. Metallic crystal

Answer: C

https://dl.doubtnut.com/l/_PVjdhFbpFmCy
https://dl.doubtnut.com/l/_oEflCwcAD2wv


Watch Video Solution

389. In a crystal, the atoms are located at the

position of……potential energy.

A. Zero

B. Infinite

C. Minimum

D. Maximum

Answer: C

https://dl.doubtnut.com/l/_oEflCwcAD2wv
https://dl.doubtnut.com/l/_yMKS1UMH4Bh2


Watch Video Solution

390. In a solid lattice the cation has left a

lattice site and is located at an interstitial

position. The lattice defect is known as -

A. Interstitial defect

B. Valency defect

C. Frenkel defect

D. Schottky defect

Answer: C

https://dl.doubtnut.com/l/_yMKS1UMH4Bh2
https://dl.doubtnut.com/l/_VWLYL1VO4t2J


Watch Video Solution

391.  possesses:

A. Face centred cubic

B. Body centred cubic

C. Simple cubic

D. Hexagonal closed packing

Answer: A

Watch Video Solution

CaF2

https://dl.doubtnut.com/l/_VWLYL1VO4t2J
https://dl.doubtnut.com/l/_s2PZdjwnSMru


392. For an ionic crystal of the general formula

 and coordination number 6, the

radius ratio will be:

A. Greater than0.73

B. Between 0.73 and 0.41

C. Between 0.41 and 0.22

D. Less than 0.22

Answer: B

Watch Video Solution

A+B−

https://dl.doubtnut.com/l/_do0BvhmpMifG


393. Which substance shows

antiferromagnetism?

A. 

B. CdO

C. 

D. 

Answer: D

Watch Video Solution

ZrO2

CrO2

Mn2O3

https://dl.doubtnut.com/l/_sEwETmU7OWKl
https://dl.doubtnut.com/l/_dbklKppBF2fE


394. The coordination number of  ion in

fluorite crystal is:

A. 2

B. 8

C. 6

D. 4

Answer: B

Watch Video Solution

Ca2 +

https://dl.doubtnut.com/l/_dbklKppBF2fE


395. Metals have specific conductivity of the

order of :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(ohm − 1cm − 1)

1012

108

102

10− 6

https://dl.doubtnut.com/l/_MCS1Px70VAle
https://dl.doubtnut.com/l/_ElhHLkjCqNn7


396. In crystal structure of rock salt (NaCI), the

arrangement of  ion is:

A. fcc

B. bcc

C. Both (a) and (b)

D. None

Answer: A

Watch Video Solution

CI −

https://dl.doubtnut.com/l/_ElhHLkjCqNn7


397. Which crystal is expected to be soft and

have low melting point?

A. Covalent

B. Methalic

C. Molecular

D. Ionic

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nF7FY1dhGWGj
https://dl.doubtnut.com/l/_IxdVkFHUpyRY


398. The elements of symmetry in a crystal are:

A. Plane of symmetry

B. Axis of symmetry

C. Centre of symmetry

D. All

Answer: D

Watch Video Solution

399. Molecular crystals exist in:

https://dl.doubtnut.com/l/_IxdVkFHUpyRY
https://dl.doubtnut.com/l/_Z1stSndP4I2a


A. Crystalline state

B. Amorphous state

C. Non-crystalline state

D. All

Answer: D

Watch Video Solution

400. Quartz is an example of:

A. Chain silicate

https://dl.doubtnut.com/l/_Z1stSndP4I2a
https://dl.doubtnut.com/l/_YpvbNm9I0Kho


B. Infinite sheet silicate

C. Framework silicate

D. Cyclic silicate

Answer: C

Watch Video Solution

401. In antiflourite structure, the negative

ions:

A. Occupy tetrahedral voids

https://dl.doubtnut.com/l/_YpvbNm9I0Kho
https://dl.doubtnut.com/l/_dPPM9r8J4eCj


B. Occupy octahedral voids

C. Are arranged in ccp

D. Are arranged in hcp

Answer: C

Watch Video Solution

402. The pure crystalline substance on being

heated gradually first forms a turbid liquid at

constant temperature and still at higher

temperature turbidity completely disappears.

https://dl.doubtnut.com/l/_dPPM9r8J4eCj
https://dl.doubtnut.com/l/_3fXtW6qc7cmm


The behaviour is a characteristics of substance

forming:

A. Allotropic crystal

B. Liquid crystal

C. Isomeric crystals

D. Isomorphous crystals

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3fXtW6qc7cmm


403. Ionic solids with Schottky defects contain

in their structure:

A. Equal number of cations and anion

vacancies

B. Intersitial anions and anion vacancies

C. Cation vacancies only

D. Cation vacancies and interstitial cations

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_J2tLss3Ep25e


404. In a cubic close packing of spheres in

there dimensions the coordination number of

each sphere is:

A. 6

B. 9

C. 3

D. 12

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_J2tLss3Ep25e
https://dl.doubtnut.com/l/_qPns96HO1Dr5


405. When arrangement of electrons leads to

ferromagnetism?

A. 

B. 

C. 

D. None the these

Answer: A

Watch Video Solution

↑ ↑ ↑ ↑

↑ ↓ ↑ ↓

↑ ↑ ↑ ↓ ↓

https://dl.doubtnut.com/l/_qPns96HO1Dr5
https://dl.doubtnut.com/l/_dIiXEkis45ri


406. For which crystal anion-anion contact is

valid?

A. NaF

B. NaI

C. CsBr

D. KCI

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_WTkjXenqZsYZ
https://dl.doubtnut.com/l/_nBp15wY9da6I


407. The melting point of RbBr is , with

that of . The principal reason

that melting point of NaF is much higher than

that of RbBr is that:

A. The two crystals are not isomorphous

B. The molar mass of NaF is smaller than

that of RbBr

C. The internuclear distance  is

greater for RbBr than for NaF

682∘C

NaFis988∘C

re + ra

https://dl.doubtnut.com/l/_nBp15wY9da6I


D. The bond is RbR has more covalent

character than the bond in NaF

Answer: C

Watch Video Solution

408. The oxide which shows metallic

conduction:

A. 

B. VO

ReO3

https://dl.doubtnut.com/l/_nBp15wY9da6I
https://dl.doubtnut.com/l/_Pm4KP9g8NDL8


C. 

D. All

Answer: D

Watch Video Solution

CrO2

409. An insulstor oxide is:

A. CuO

B. CoO

C. Fe2O3

https://dl.doubtnut.com/l/_Pm4KP9g8NDL8
https://dl.doubtnut.com/l/_I4FnKKvqXll3


D. All

Answer: D

Watch Video Solution

410. Which species is diamagnetic?

A. 

B. 

C. 

D. All

Ca2 +

Hg2CI2

Sb3 +

https://dl.doubtnut.com/l/_I4FnKKvqXll3
https://dl.doubtnut.com/l/_yHxdGtqZ9Qtd


Answer: D

Watch Video Solution

411. Which oxide of chlorine is paramagnetic?

A. 

B. 

C. 

D. 

Answer: B

CI2O

CIO2

CI2O4

CI2O6

https://dl.doubtnut.com/l/_yHxdGtqZ9Qtd
https://dl.doubtnut.com/l/_5azwN9puLNzA


Watch Video Solution

412. Which crystal has the largest lattice

energy?

A. KCI

B. MgO

C. LiBr

D. NaF

Answer: B

https://dl.doubtnut.com/l/_5azwN9puLNzA
https://dl.doubtnut.com/l/_wNV1WdXuC41w


Watch Video Solution

413. The structure of MgO is similar to NaCI.

The co-ordination number of Mg is:

A. 2

B. 6

C. 4

D. 8

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_wNV1WdXuC41w
https://dl.doubtnut.com/l/_sa31UR92Bb2h


414. 4 : 4 coordination is noticed in:

A. ZnS

B. CuCI

C. AgI

D. All

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_sa31UR92Bb2h
https://dl.doubtnut.com/l/_ZPPdvJKaxRxG
https://dl.doubtnut.com/l/_ztlVv7b967pX


415. The oxide which shows transition from

metal to insulation, i.e., semiconductors are:

A. 

B. 

C. 

D. All

Answer: D

Watch Video Solution

V2O3

VO2

Ti2O3

https://dl.doubtnut.com/l/_ztlVv7b967pX


416. 8 : 8 coordination is noticed in:

A. MgO

B. 

C. CsCI

D. All

Answer: C

Watch Video Solution

AI2O3

https://dl.doubtnut.com/l/_iusbfbz92HMQ


417. The oxide that possesses electrical

conductivity:

A. 

B. 

C. NiO

D. MnO

Answer: B

Watch Video Solution

V2O5

CrO2

https://dl.doubtnut.com/l/_peusSdbi5PG4
https://dl.doubtnut.com/l/_1H5tuTy1D39N


418. In the unit-cell of NaCI lattice there are:

A. 

B. 

C. 

D. 4NaCI units

Answer: D

Watch Video Solution

3Na+ ion

6Na + ion

6CI − ion

419. Which species is paramagnetic ?

https://dl.doubtnut.com/l/_1H5tuTy1D39N
https://dl.doubtnut.com/l/_Ke25WhcNFPkh


A. NO

B. 

C. 

D. All are correct

Answer: D

Watch Video Solution

NO−

NO+

420. The substance which possesses zero

resistance as 0 K:

https://dl.doubtnut.com/l/_Ke25WhcNFPkh
https://dl.doubtnut.com/l/_I6xtcjyzbT2b


A. Conductor

B. Super conductor

C. Insulator

D. Semiconductor

Answer: B

Watch Video Solution

421. Of the elements Sr,Zr,Mo,Cd and Sb, all of

which are in V period, the paramagnetics are:

https://dl.doubtnut.com/l/_I6xtcjyzbT2b
https://dl.doubtnut.com/l/_DTL0yyf1gwm5


A. Se, Cd and Sb

B. Zr, Mo and Cd

C. Sr, Zr and Cd

D. Zr,Mo and Sb

Answer: D

Watch Video Solution

422. The cation-anion bond have the largest

amount of covalent character for:

https://dl.doubtnut.com/l/_DTL0yyf1gwm5
https://dl.doubtnut.com/l/_ELblcnadxlxh


A. NaBr

B. SrS

C. CdS

D. BaO

Answer: C

Watch Video Solution

423. Which is ferromagnetic?

A. Ni

https://dl.doubtnut.com/l/_ELblcnadxlxh
https://dl.doubtnut.com/l/_H5hDKIwNpDdH


B. Co

C. 

D. All

Answer: D

Watch Video Solution

CrO3

424. Which one is diamagnetic?

A. 

B. 

CIO2

CU 2 +

https://dl.doubtnut.com/l/_H5hDKIwNpDdH
https://dl.doubtnut.com/l/_kY2ZJxwFBiT0


C. 

D. 

Answer: C

Watch Video Solution

F −

Ni2 +

425. Maximum ferromagnetism is found in:

A. Fe

B. Ni

C. Co

https://dl.doubtnut.com/l/_kY2ZJxwFBiT0
https://dl.doubtnut.com/l/_wUWmof4BhNe8


D. None

Answer: A

Watch Video Solution

426. Crystals can be classified into …… basic

crystal habits?

A. 7

B. 4

C. 14

https://dl.doubtnut.com/l/_wUWmof4BhNe8
https://dl.doubtnut.com/l/_qqP9lZqWVd4A


D. 3

Answer: A

Watch Video Solution

427. The maximum proportion of available

volume that can be filled by hard spheres in

diamond is:

A. 0.52

B. 0.34

https://dl.doubtnut.com/l/_qqP9lZqWVd4A
https://dl.doubtnut.com/l/_EawkRF6bguJy


C. 0.32

D. 0.68

Answer: B

Watch Video Solution

428. Lubricating properties of graphite are

diminished in presence of:

A. High pressure

B. Low pressure

https://dl.doubtnut.com/l/_EawkRF6bguJy
https://dl.doubtnut.com/l/_Di21hkJ9FF7n


C. Vacuum

D. None

Answer: C

Watch Video Solution

429. Which do not from amalgam with Hg ?

A. Pt

B. Fe

C. Both (a) and (b)

https://dl.doubtnut.com/l/_Di21hkJ9FF7n
https://dl.doubtnut.com/l/_BqPj4vx7m1Ru


D. None

Answer: C

Watch Video Solution

430. High thermal conductivity of metals is

due to transfer of heat through:

A. Molecular collsions

B. Electronic collisions

C. Atomic collisions

https://dl.doubtnut.com/l/_BqPj4vx7m1Ru
https://dl.doubtnut.com/l/_E6TUHMbaTDLV


D. All

Answer: B

Watch Video Solution

431. The metal surfaces are excellent reflectors

because of absorption and re-emission of light

by:

A. Protons in atom

B. Electrons in atom

https://dl.doubtnut.com/l/_E6TUHMbaTDLV
https://dl.doubtnut.com/l/_W7KmTY4EHpTt


C. Neutrons in atom

D. None

Answer: B

Watch Video Solution

432. An increase in the charge of the positive

ions that occupy lattice positions brings in

a/an…… in methallic bonding.

A. Increase

https://dl.doubtnut.com/l/_W7KmTY4EHpTt
https://dl.doubtnut.com/l/_Tdi3jnku5QOH


B. Decrease

C. Neither increase nor decrease

D. Either increase or decrease

Answer: A

Watch Video Solution

433. The hardness of metal increases with

increase in number of …… involved in metallic

bonding.

https://dl.doubtnut.com/l/_Tdi3jnku5QOH
https://dl.doubtnut.com/l/_g7NCbndyJdPF


A. Atoms

B. Molecules

C. Electrons

D. All

Answer: C

Watch Video Solution

434. Which possesses highest lattice energy?

A. LiBr

https://dl.doubtnut.com/l/_g7NCbndyJdPF
https://dl.doubtnut.com/l/_bhJT4hd9TllV


B. LiCI

C. LiI

D. LiF

Answer: D

Watch Video Solution

435. Each atom in bcc structure has ……..

Nearest neighbours.

A. 8

https://dl.doubtnut.com/l/_bhJT4hd9TllV
https://dl.doubtnut.com/l/_zKUUysYcKvOR


B. 6

C. 4

D. 2

Answer: A

Watch Video Solution

436. The resistance of mercury becomes

almost zero at :

A. 4 K

https://dl.doubtnut.com/l/_zKUUysYcKvOR
https://dl.doubtnut.com/l/_TEfAUyiVMlGt


B. 10 K

C. 20 K

D. 25 k

Answer: A

Watch Video Solution

437. All the substances become diamagnetic at

:

A. 4 K

https://dl.doubtnut.com/l/_TEfAUyiVMlGt
https://dl.doubtnut.com/l/_v2P6FK3qsNao


B. 10 k

C. 20 K

D. 25 K

Answer: A

Watch Video Solution

438. Extremely pure samples of Ge and Si are

non-conductors ,but their conductivity

increases suddenly on introducing …….. In their

crystal lattice .

https://dl.doubtnut.com/l/_v2P6FK3qsNao
https://dl.doubtnut.com/l/_GZeW2vpTnQJZ


A. As

B. B

C. Both(a) and (b)

D. None

Answer: C

Watch Video Solution

439. Solids are characterised by their

properties :

https://dl.doubtnut.com/l/_GZeW2vpTnQJZ
https://dl.doubtnut.com/l/_Ngqo5hSVfROG


A. Incompressibility

B. Mechanical strength

C. Crystalling nature

D. All

Answer: D

Watch Video Solution

440. A solids having no definite shape is called

:

https://dl.doubtnut.com/l/_Ngqo5hSVfROG
https://dl.doubtnut.com/l/_DFwvP0HPNmdz


A. Amorphous solid

B. Crystalline solid

C. Anisotropic

D. None

Answer: A

Watch Video Solution

441. A solid having no definite geometrical

shape with flat faces and sharp edges is :

https://dl.doubtnut.com/l/_DFwvP0HPNmdz
https://dl.doubtnut.com/l/_4eGJpZN81qK3


A. Amorphous solid

B. Crystalline solid

C. Isotropic solid

D. None

Answer: B

Watch Video Solution

442. The crystals are bounded by plane faces

(f), straight edges (e) and interfacial angle (c).

The relationship between these is :

https://dl.doubtnut.com/l/_4eGJpZN81qK3
https://dl.doubtnut.com/l/_OhfR1NPnuFE0


A. f+c = e+2

B. f+e = c+2

C. c+e = f+2

D. None

Answer: A

Watch Video Solution

443. A cubic crystal possesses :

A. 9 Plane of symmetry

https://dl.doubtnut.com/l/_OhfR1NPnuFE0
https://dl.doubtnut.com/l/_TXSBDmTIJ2uL


B. 13 axis of symmetry

C. 1 centre of symmetry

D. All

Answer: D

Watch Video Solution

444. A cubic crystal possesses in all …….

Elements of symmetry .

A. 9

https://dl.doubtnut.com/l/_TXSBDmTIJ2uL
https://dl.doubtnut.com/l/_2cGlLmkGCnXk


B. 13

C. 1

D. 23

Answer: D

Watch Video Solution

445. The statement that , .. It is possible to

choose along the three coordinate axes unit

distance a,b,c not necessarily of the same

length ,such that the ratio of there intercepts

https://dl.doubtnut.com/l/_2cGlLmkGCnXk
https://dl.doubtnut.com/l/_tn1XJuVlJXSJ


of any plane in the crystal ,is given by in ma :

nb:pc where m,n,p are either integral whole

numbers including infinity or fraction of whole

number, ..is known as :

A. Hauy's law of rationality of indices

B. The law of constancy of interfacial

angles

C. The law of constancy of symmetry

D. None

Answer: A

https://dl.doubtnut.com/l/_tn1XJuVlJXSJ


Watch Video Solution

446. The statement that , '' All crystals of the

same substance possess the same elements of

symmetry '' is known as :

A. Hauy's law of rationality of indices

B. The law of constancy of interfacial

angles

C. The law of constancy of symmetry

D. None

https://dl.doubtnut.com/l/_tn1XJuVlJXSJ
https://dl.doubtnut.com/l/_RwBe2ThMu0UC


Answer: C

Watch Video Solution

447. The statement that, .. That crystals of

same substance can have different shapes

depending upon the number and size of faces

but the angle between the corresponding

faces remains constant .. is known as :

A. Hauy's law of rationality of indices

https://dl.doubtnut.com/l/_RwBe2ThMu0UC
https://dl.doubtnut.com/l/_GWsvYvyP9qDw


B. The law of constancy of interfacial

angles

C. The law of constancy of symmetry

D. None

Answer: B

Watch Video Solution

448. The ratio of cations to anion in a

octahedral close packing is :

https://dl.doubtnut.com/l/_GWsvYvyP9qDw
https://dl.doubtnut.com/l/_bAavzgRDU58K


A. 0.414

B. 0.225

C. 0.02

D. None

Answer: A

Watch Video Solution

449. The ratio of cations to anion in a closed

pack tetrahedral is :

https://dl.doubtnut.com/l/_bAavzgRDU58K
https://dl.doubtnut.com/l/_VRFgia4YvlsA


A. 0.414

B. 0.225

C. 0.02

D. None

Answer: B

Watch Video Solution

450. If a is the length of unit cell .then which

one is correct relationship :

https://dl.doubtnut.com/l/_VRFgia4YvlsA
https://dl.doubtnut.com/l/_lyy2tfYUqhsA


A. For simple cubic lattice, Radius of metal

atom=a/2

B. For bcc lattice, 

Radius of metal atom= 

C. For fcc lattice, 

Radius of metal atom =

D. All

Answer: D

Watch Video Solution

√3a

4

a

2√2

https://dl.doubtnut.com/l/_lyy2tfYUqhsA
https://dl.doubtnut.com/l/_vZb1KeY497Kp


451. Amorphous solids:

A. Possess sharp melting points

B. Undergo clean cleavage when cut with

knife

C. Do not undergo clean cleavage when cut

with knife

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vZb1KeY497Kp


452. Which of the following will show

anisotropy?

A. Glass

B. 

C. Wood

D. Paper

Answer: B

Watch Video Solution

BaCl2

https://dl.doubtnut.com/l/_vZb1KeY497Kp
https://dl.doubtnut.com/l/_rm7aRZA9V3i0


453. The unit cell with crystallographic

dimensions  is

A. Cubic

B. Tetragonal

C. Monoclinic

D. Hexagonal

Answer: B

Watch Video Solution

a = b ≠ c, α = β = γ = 90∘

https://dl.doubtnut.com/l/_zdVJWKeNbg2p
https://dl.doubtnut.com/l/_cOibC8T1AXib


454. The arrangement ABC, ABC ... is referred

to as

A. Octahedral close packing

B. Hexagonal close packing

C. Tetrahedral close packing

D. Cubic close packing

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cOibC8T1AXib


455. The interparticle forces in solid hydrogen

are :

A. Hydrogen bonds

B. Covalent bonds

C. Coordinate bonds

D. van der Waals 'forces

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xbmj1pkQt4HX
https://dl.doubtnut.com/l/_4CRZbskmNEFi


456. A solid X melts slightly above 273 K and is

a poor conductor of heat and electricity. To

which of the following categories does it

belong :

A. Ionic solid

B. Covalent solid

C. metallic

D. Molecular

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_4CRZbskmNEFi


457. The unit cell with the structure below

refers to …….. Crystal system. 

A. Cubic

B. Orthorhombic

C. Tetragonal

https://dl.doubtnut.com/l/_4CRZbskmNEFi
https://dl.doubtnut.com/l/_LW3WdR0Cdg3O


D. Trigonal

Answer: B

Watch Video Solution

458. A solid has the ions arranged

as below .If the  ions occupy half of the

tetrahedral sites in the structure. The formula

A+B− B−

A+

https://dl.doubtnut.com/l/_LW3WdR0Cdg3O
https://dl.doubtnut.com/l/_hSUs996O4qkT


of solid is :

A. AB

B. 

C. 

D. 

AB2

A2B

A3B4

https://dl.doubtnut.com/l/_hSUs996O4qkT


Answer: C

Watch Video Solution

459. The example of ortho silicate is :

A. 

B. 

C. 

D. 

Answer: B

MgCaSi2O6

Mg2SiO4

Fe2O3SiO2

Ba3Al2Si6O8

https://dl.doubtnut.com/l/_hSUs996O4qkT
https://dl.doubtnut.com/l/_WfV9B05Y5HBd


Watch Video Solution

460. A binary solid  has a zinc blende

structure with ions constituting the

lattice and ions occupying 

tetrahedral holes .The formula of solid is :

A. AB

B. 

C. 

D. 

(A+B− )

B−

A+ 25 %

A2B

AB2

AB4

https://dl.doubtnut.com/l/_WfV9B05Y5HBd
https://dl.doubtnut.com/l/_rOohCP11wGFd


Answer: C

Watch Video Solution

461. The radius of  is 95 pm and  ion

181 pm. Find co-ordination number of 

ion.

A. 4

B. 6

C. 8

D. Unpredictable

Na+ Cl−

Na+

https://dl.doubtnut.com/l/_rOohCP11wGFd
https://dl.doubtnut.com/l/_cCQZ8zqq2Fzp


Answer: B

Watch Video Solution

462. An alloy of copper, silver and gold is

found to have copper constituting the ccp

lattice . If silver atoms occupy the edge centre

and gold is present at body centre, the alloy

has a formula :

A. 

B. 

Cu4Ag2Au

Cu4Ag4Au

https://dl.doubtnut.com/l/_cCQZ8zqq2Fzp
https://dl.doubtnut.com/l/_MjByKf5F8I7L


C. 

D. CuAgAu

Answer: C

Watch Video Solution

Cu4Ag3Au

463. Which is an example of ferroelectric

compound ?

A. Quartz

B. PbCrO4

https://dl.doubtnut.com/l/_MjByKf5F8I7L
https://dl.doubtnut.com/l/_K8KHv1cFw1Kz


C. Barium titanate

D. None

Answer: C

Watch Video Solution

464. Which one is called pseudo solid ?

A. 

B. Glass

C. NaCl

Caf2

https://dl.doubtnut.com/l/_K8KHv1cFw1Kz
https://dl.doubtnut.com/l/_8C1tiswVd6sW


D. All

Answer: B

Watch Video Solution

465. The yellow colour of ZnO and conducting

nature produced in heating is due to :

A. Meta excess defects due to interstitial

cation

https://dl.doubtnut.com/l/_8C1tiswVd6sW
https://dl.doubtnut.com/l/_OIDAhrbQAC6j


B. Extra positive ions present in an

interstitial site

C. Trapped electrons

D. All

Answer: D

Watch Video Solution

466. The phenomenon in which crystals on

subjecting to a pressure or mechanical stress

produce electricity is called :

https://dl.doubtnut.com/l/_OIDAhrbQAC6j
https://dl.doubtnut.com/l/_WyH5e0U14cGl


A. Pyroelectricity

B. Piezoelectric effect

C. Ferro electricity

D. Ferri electricity

Answer: B

Watch Video Solution

467. The phenomenon in which polar crystals

on heating produce electricity is called :

https://dl.doubtnut.com/l/_WyH5e0U14cGl
https://dl.doubtnut.com/l/_VqRRaDtBPSeF


A. Pyroelectricity

B. Piezoelectricity

C. Ferro electricity

D. Ferri electricity

Answer: A

Watch Video Solution

468. silicon doped with arsenic is an example

of :

https://dl.doubtnut.com/l/_VqRRaDtBPSeF
https://dl.doubtnut.com/l/_iE5NgtfLlLD0


A. p-type conductor

B. n-type conductor

C. n-p type conductor

D. None

Answer: B

Watch Video Solution

469. The number of octahedral sites in a

cubical close pack array of N spheres is :

https://dl.doubtnut.com/l/_iE5NgtfLlLD0
https://dl.doubtnut.com/l/_ecfmsCxkh0MC


A. N/2

B. 2N

C. 4N

D. None

Answer: D

Watch Video Solution

470. In a close pack array of n spheres, the

number of tetrahedral holes are :

https://dl.doubtnut.com/l/_ecfmsCxkh0MC
https://dl.doubtnut.com/l/_rh9LuXKKbStQ


A. 4N

B. N/2

C. 2N

D. N

Answer: C

Watch Video Solution

471. The coordination number of a metal

crystallising in a hexagonal close-packed

structure is :

https://dl.doubtnut.com/l/_rh9LuXKKbStQ
https://dl.doubtnut.com/l/_fNo7cnE025JO


A. 12

B. 4

C. 8

D. 6

Answer: A

Watch Video Solution

472. In a cubic close packing of spheres in

there dimensions the coordination number of

each sphere is:

https://dl.doubtnut.com/l/_fNo7cnE025JO
https://dl.doubtnut.com/l/_YTAWlfWJqokB


A. 6

B. 9

C. 3

D. 12

Answer: D

Watch Video Solution

473. If the position of  and  are

interchanged in NaCl, the crystal Iattice with

respect to  and  is :

Na+ Cl−

Na+ Cl−

https://dl.doubtnut.com/l/_YTAWlfWJqokB
https://dl.doubtnut.com/l/_fq2GAe0W3Wyr


A. Both fcc

B. Both bcc

C. fcc and bcc

D. bcc and fcc

Answer: A

Watch Video Solution

474. Which of the following statement is not

correct ?

https://dl.doubtnut.com/l/_fq2GAe0W3Wyr
https://dl.doubtnut.com/l/_yCFVq62qVZ12


A. The coordination number of each type of

ion in CsCl crystal is 8.

B. A metal that crystallises in bcc structure

has a coordination no .of 12.

C. A unit cell of an ionic crystal shares

some of its ions with other unit cells .

D. The length of the unit cell in NaCl is 552

pm .

Answer: B

Watch Video Solution

(rna
+ = 95 ± , rcl

≡ 181 ± )

https://dl.doubtnut.com/l/_yCFVq62qVZ12


475. A compound alloy of gold and Cu

crystallises in a cubic lattice in which the gold

atoms occupy the lattice points at the comers

of a cube and the copper atoms occupy the

centres of each of the cube faces. What is the

empirical formula of this compound ?

A. 

B. 

C. 

AuCu3

Au3Cu

Au2Cu3

https://dl.doubtnut.com/l/_yCFVq62qVZ12
https://dl.doubtnut.com/l/_G5Lh5fC7O00w


D. AuCu

Answer: A

Watch Video Solution

476. The intermetallic compound LiAg has a

cubic crystalline structure in which each Li

atom has 8 nearest neighbour silver atoms

and vice-versa .What is the type of unit cell ?

A. Body-centred cubic

https://dl.doubtnut.com/l/_G5Lh5fC7O00w
https://dl.doubtnut.com/l/_tYVX190IK9FD


B. Face-centred cubic

C. Simple cubic for either Li atoms alone or

Ag atoms alone

D. None of the above

Answer: A

Watch Video Solution

477. How many tetrahedral holes are occupied

in diamond ?

https://dl.doubtnut.com/l/_tYVX190IK9FD
https://dl.doubtnut.com/l/_KiBnpvLamAFp


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

25 %

50 %

75 %

100 %

478. How many octahedral and terahedral

holes are present per unit cell in a face -

centred cubic arrangement of atoms?

https://dl.doubtnut.com/l/_KiBnpvLamAFp
https://dl.doubtnut.com/l/_uKycQXaIeX6L


A. 8,4

B. 1,2

C. 4,8

D. 2,1

Answer: C

Watch Video Solution

479. When arrangement of electrons leads to

ferromagnetism?

https://dl.doubtnut.com/l/_uKycQXaIeX6L
https://dl.doubtnut.com/l/_R9iIjOsDDNkc


A. 

B. 

C. Both (a) and (b)

D. None

Answer: B

Watch Video Solution

↑ ↑ ↑ ↑

↑ ↑ ↑ ↑

480. How many .nearest. and. next nearest.

neighbours respectively potassium have in bcc

lattice ?

https://dl.doubtnut.com/l/_R9iIjOsDDNkc
https://dl.doubtnut.com/l/_I1BXjjmWouRu


A. 8,8

B. 8,6

C. 6,8

D. 8,2

Answer: B

Watch Video Solution

481. Ferrimagnetic is converted into

ferromagnetic at :

https://dl.doubtnut.com/l/_I1BXjjmWouRu
https://dl.doubtnut.com/l/_0Vu8UrxwYR6g


A. 300 K

B. 400 K

C. 600 K

D. 850 K

Answer: D

Watch Video Solution

482. The PH of a solution is defined by the

equation:

https://dl.doubtnut.com/l/_0Vu8UrxwYR6g
https://dl.doubtnut.com/l/_YA6jIS5m6eTM


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

nλ = 2 sin θ

nλ = 2d sin θ

2d = nλ sin θ

nλ = d sin θ

483. Fraction of the total volume occupied by

atoms in a simple cube is :

https://dl.doubtnut.com/l/_YA6jIS5m6eTM
https://dl.doubtnut.com/l/_ebfEyNCwXvPG


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

π

2

√3π

8

√2π

6

π

6

484. The number of atoms (n) contained

within a cubic cell is :

https://dl.doubtnut.com/l/_ebfEyNCwXvPG
https://dl.doubtnut.com/l/_OVoFsEgny0SZ


A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

485. The number of atoms (n) contained

within a cubic cell is :

https://dl.doubtnut.com/l/_OVoFsEgny0SZ
https://dl.doubtnut.com/l/_hpTrGkqxj5Yt


A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

486. The number of atoms (n) contained

within a cubic cell is :

https://dl.doubtnut.com/l/_hpTrGkqxj5Yt
https://dl.doubtnut.com/l/_JCz90ZO78gM8


A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

487. A compound formed by elements A and B

crystallizes in cubic structure where A atoms

are at the corners of a cube and B atoms are

https://dl.doubtnut.com/l/_JCz90ZO78gM8
https://dl.doubtnut.com/l/_DH1NVc3WPX4W


at the face centre. The formula of the

compound is :

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

AB3

AB2

AB4

https://dl.doubtnut.com/l/_DH1NVc3WPX4W


488. A fcc element (atomic mass =60) has a cell

edge of 400pm. Its density is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6.23gcm− 3

6.43gcm− 3

6.53gcm− 3

6.63gcm− 3

https://dl.doubtnut.com/l/_uzWhiKz0Rllw
https://dl.doubtnut.com/l/_ApyNj8uwOAyx


489. A compound CuCl has face centred cubic

structure. Its density is .The length

of unit cell is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3.4gcm− 3

5.783
∘
A

6.783
∘
A

7.783
∘
A

8.783
∘
A

https://dl.doubtnut.com/l/_ApyNj8uwOAyx
https://dl.doubtnut.com/l/_MVrs1uvX3zXE


490. The density of KCl is  and

the length of a side unit is  as

determined by X-Rays diffraction. The value of

Avogadro.s number calculated from these data

is :

A. 

B. 

C. 

D. 

Answer: A

1.9893gcm− 3

6.29082
∘
A

6.017x1023

6.023X1023

6.03X1023

6.017X1019

https://dl.doubtnut.com/l/_MVrs1uvX3zXE


Watch Video Solution

491. A unit cell cube length for LiCl (just like

NaCl structure) is . Assuming anion-

anion contact, the ionic radius for chloride ion

is :

A. 

B. 

C. 

D. 

5.14
∘
A

1.815
∘
A

2.8
∘
A

3.8
∘
A

4.815
∘
A

https://dl.doubtnut.com/l/_MVrs1uvX3zXE
https://dl.doubtnut.com/l/_HTev2n3XmgIR


Answer: A

Watch Video Solution

492. At room temperature ,sodium crystallizes

in a body centred cubic lattice with

.The theoretical density of sodium (At.wt.of

Na=23)is:

A. 

B. 

C. 

a = 4.24
∘
A

1.002gcm− 3

2.002gcm− 3

3.002gcm− 3

https://dl.doubtnut.com/l/_HTev2n3XmgIR
https://dl.doubtnut.com/l/_ot5L6vDSZ8PJ


D. None of these

Answer: A

Watch Video Solution

493. Lithium borohydride crystallizes in an

orthorhombic system with 4 molecule per unit

cell .The unit cell dimensions are

.If the

molar mass is 21.76 then the density of crystals

is :

a = 6.8
∘
A, b = 4.4

∘
A and c = 7.2

∘
A

https://dl.doubtnut.com/l/_ot5L6vDSZ8PJ
https://dl.doubtnut.com/l/_Zs82jodVQ6lG


A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

0.6708gcm− 3

1.6708gcm− 3

2.6708gcm− 3

494. Sodium metal crystalizes in a body

centred cubic lattice with the cell edge

.The radius of sodium atom is :a = 4.29
∘
A

https://dl.doubtnut.com/l/_Zs82jodVQ6lG
https://dl.doubtnut.com/l/_n5EHQ3SFFWf5


A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

1.8574
∘
A

2.8574
∘
A

3.8574
∘
A

495. A solid compound X Y has NaCl structure.

If radius of  is 100 pm . What is the radius

of  ion:

X +

Y −

https://dl.doubtnut.com/l/_n5EHQ3SFFWf5
https://dl.doubtnut.com/l/_QoVK5q9Bp3IU


A. 120 pm

B. 136.6 to 241.6 pm

C. 136.6 pm

D. 241.6 pm

Answer: B

Watch Video Solution

496. A solid has a bcc structure. If the distance

of closest approach between the two atoms is

.The edge length of the cell is :1.73
∘
A

https://dl.doubtnut.com/l/_QoVK5q9Bp3IU
https://dl.doubtnut.com/l/_rKATnIBdo6hv


A. 200 pm

B. 

C. 142.2 pm

D. 

Answer: A

Watch Video Solution

497. A binary solid has a rock salt

structure .If the edge length is 400 pm and

(A+B− )

https://dl.doubtnut.com/l/_rKATnIBdo6hv
https://dl.doubtnut.com/l/_NZmDMcvdhUDf


radius of cation is 75 pm the radius of anion is

:

A. 100 pm

B. 125 pm

C. 250 pm

D. 325 pm

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NZmDMcvdhUDf


498. The ionic radii of  and  are 

and . The most probable type of

structure exhibited by it is :

A. CsCl type

B. NaCl type

C. ZnS type

D. type

Answer: B

Watch Video Solution

Rb+ I − 1.46
∘
A

2.16
∘
A

CaF2

https://dl.doubtnut.com/l/_fnlJHBh6ID98


499. The density of KBr is 2.75 gm 

length of the unit cell is 654 pm . K=39,Br=80,

then what is true about the predicted nature

of the solid:

A. Solid has face centred cubic system with

coordination number=6

B. Solid has simple cubic system with

coordination number =4

C. Solid has face centred cubic system with

coordination number =1

cm− 3

https://dl.doubtnut.com/l/_TeTQB87QUiNG


D. None

Answer: A

Watch Video Solution

500. In a face centred cubic arrangement of A

and B atoms whose A atoms are at the corner

of the unit cell and B atoms at the face

centres: One of the A atom is missing from

one corner in unit cell . The simplest formula

of compund is :

https://dl.doubtnut.com/l/_TeTQB87QUiNG
https://dl.doubtnut.com/l/_JTqeuSe9iB7B


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A7B3

Ab3

A7B24

B3
A7

8

501. The radius of  ion is 126 pm while

that of  ion is 216 pm . The coordination

number of Ag in Agl is :

Ag+

I −

https://dl.doubtnut.com/l/_JTqeuSe9iB7B
https://dl.doubtnut.com/l/_Yn692rd4DFul


A. 2

B. 4

C. 6

D. 8

Answer: C

Watch Video Solution

502. CsBr has bcc structure with edge length

4.3. The shortest inter ionic distance in

between  and  is :Cs+ Br−

https://dl.doubtnut.com/l/_Yn692rd4DFul
https://dl.doubtnut.com/l/_5MFcqmcuJfo4


A. 3.72

B. 1.86

C. 7.44

D. 4.3

Answer: A

Watch Video Solution

503. Edge length of a cube is 400 pm. Its body

diagonal would be :

https://dl.doubtnut.com/l/_5MFcqmcuJfo4
https://dl.doubtnut.com/l/_cOr3NlCw2QPB


A. 600 pm

B. 566 pm

C. 693 pm

D. 500 pm

Answer: C

Watch Video Solution

504. IN a sodium chloride crystal, each

chloride ion is surrounded by :

https://dl.doubtnut.com/l/_cOr3NlCw2QPB
https://dl.doubtnut.com/l/_UOZo3SIfQNrX


A. 6 sodium ions

B. 6 chloride ions

C. 8 sodium ions

D. 4 sodium ions

Answer: A

Watch Video Solution

505. The structure of NaCl crystal is :

A. Body centred cubic lattice

https://dl.doubtnut.com/l/_UOZo3SIfQNrX
https://dl.doubtnut.com/l/_9EPt8tpsyq2j


B. Face centred cubic lattice

C. Octahedral

D. Square planar

Answer: B

Watch Video Solution

506. The number of atoms per unit cell in a

simple cube, face centred cube and body

centred cube are rrepectively:

https://dl.doubtnut.com/l/_9EPt8tpsyq2j
https://dl.doubtnut.com/l/_7rIEn5ZHXYCQ


A. 2

B. 3

C. 4

D. 14

Answer: C

Watch Video Solution

507. A crystal may have one or more planes of

symmetry as well as one or more axes of

symmetry but it has :

https://dl.doubtnut.com/l/_7rIEn5ZHXYCQ
https://dl.doubtnut.com/l/_AhXgUW2xGItn


A. Two centres of symmetry

B. No centre of symmetry

C. One centre of symmetry

D. Four centres of symmetry

Answer: C

Watch Video Solution

508. The total number of symmetry in a cubic

crystal is :

https://dl.doubtnut.com/l/_AhXgUW2xGItn
https://dl.doubtnut.com/l/_P7U3FmYAgrcx


A. 9

B. 23

C. 10

D. None

Answer: B

Watch Video Solution

509. The structure of CsCI crystal is:

A. Body centred cubic lattice

https://dl.doubtnut.com/l/_P7U3FmYAgrcx
https://dl.doubtnut.com/l/_vDGcrJva6VHs


B. Face centred cubic lattice

C. Octahedral

D. None

Answer: A

Watch Video Solution

510. Close packing is maximum in the crystal

which is -

A. Simple cube

https://dl.doubtnut.com/l/_vDGcrJva6VHs
https://dl.doubtnut.com/l/_JVgG9nNOWSZi


B. Face centred cube

C. Body centred cube

D. Primitive cube

Answer: B

Watch Video Solution

511. The number of atoms per unit cell in a

simple cube, face centred cube and body

centred cube are rrepectively:

https://dl.doubtnut.com/l/_JVgG9nNOWSZi
https://dl.doubtnut.com/l/_2O812CKksNGX


A. 1,4,2

B. 1,2,4

C. 8,14,9

D. 8,4,2

Answer: A

Watch Video Solution

512. The coordination number of a body

centred atom is:

https://dl.doubtnut.com/l/_2O812CKksNGX
https://dl.doubtnut.com/l/_PHR5jRn4CR9o


A. 4

B. 6

C. 8

D. 12

Answer: C

Watch Video Solution

513. Bragg’s equation has no solution if:

A. nλ = 2d

https://dl.doubtnut.com/l/_PHR5jRn4CR9o
https://dl.doubtnut.com/l/_gzoHLg0GfiWP


B. 

C. 

D. All

Answer: B

Watch Video Solution

nλ > 2d

nλ < 2d

514. In a body centred cubic arrangement the

ion A occupies the centre while the ,ions B

occupy the corners of a cube the formula of

the crystal is:

https://dl.doubtnut.com/l/_gzoHLg0GfiWP
https://dl.doubtnut.com/l/_qsSiqUHTnaCn


A. AB

B. 

C. 

D. 

Answer: A

Watch Video Solution

A2B

AB2

AB3

515. A crystalline solid

A. Isotropic

https://dl.doubtnut.com/l/_qsSiqUHTnaCn
https://dl.doubtnut.com/l/_G1rHwQqamUlq


B. Sharp melting point

C. Definite geometry

D. High intarmolecular forces

Answer: A

Watch Video Solution

516. The number of Bravais lattices in a cubic

crystal is:

A. 3

https://dl.doubtnut.com/l/_G1rHwQqamUlq
https://dl.doubtnut.com/l/_MTXM2yOcKjdW


B. 1

C. 4

D. 14

Answer: A

Watch Video Solution

517. The volume occupied by an atom in a

simple cubic unit cell is:

A. a3

https://dl.doubtnut.com/l/_MTXM2yOcKjdW
https://dl.doubtnut.com/l/_1APZs4Ph6zFo


B. 

C. 

D. 

Answer: C

Watch Video Solution

4πa3

3

πa3

6

√3π

8

518. The atomic radius of a face centred cubic

cell is:

A. 
a

2

https://dl.doubtnut.com/l/_1APZs4Ph6zFo
https://dl.doubtnut.com/l/_ZGSkVvpmiVih


B. 

C. 

D. 

Answer: B

Watch Video Solution

√2. a

4

√3. a

4

a

4

https://dl.doubtnut.com/l/_ZGSkVvpmiVih

